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--- On commencing at 9:41 a.m.

MR. KAISER:  Please be seated.

Mr. Thompson.
UNION GAS - PANEL 1 (resumed) 

Richard Birmingham, Previously Sworn

Dr. Jack Mintz, Previously Sworn

Dr. Thomas Wilson, Previously Sworn
Cross-examination by Mr. Thompson:


MR. THOMPSON:  Thank you, Mr. Chairman.

Panel, I would like to start with a few questions about the adjustment to base year revenue requirement, that feature of the proposal.  And I wanted to just, if I could, get clear on the amount in issue under that topic heading.

I think, Mr. Birmingham, you were having some discussion with Mr. Shepherd about this yesterday at transcript, 185.

Am I correct what the adjustment for the base year revenue requirement issue relates to is a tax adjustment for the 2007 year?

MR. BIRMINGHAM:  Which adjustment specifically are you talking about, Mr. Thompson?  We do have recorded in a deferral account $8 million, which we have estimated to be the impact for 2008.

MR. THOMPSON:  I am talking about the issue that was reserved for this case, under the topic heading, in the settlement agreement, "Base Year Revenue Requirement", page 33 of the settlement agreement.

Mr. -- sorry, in I guess it is Exhibit 3.1.4, question 3.1.2 talked about actual tax rates, provincial capital tax, 3.1.3 talks about CCA rates in 2007, and then there is a question, 3.1.4:
"Is Union proposing to adjust base rates to reflect the changes that were effective for 2007?"

Then there is an answer about adjusting the 2007 rates.  I was trying to get the impact on the 2007 revenue requirement of this base year adjustment that was reserved to this hearing.  Can you help me with the numbers?

MR. BIRMINGHAM:  I believe I can, Mr. Thompson.

The 2007 base year impacts are the $1.8 million for capital tax and the $1.0 million for the CCA change.

We have recorded $1.8 million with respect to the capital tax change in a 2007 deferral account for disposition.  That's part of that proceeding.

But what we're saying is we're not adjusting rates going forward.  We're simply recording that amount in a deferral account for a one-time disposition in accordance with the settlement agreement.

MR. THOMPSON:  All right.  So is the -- what is in issue there $1.1 million for 2007 that you show in this answer 3.1.4?

MR. BIRMINGHAM:  Well, the remaining 1.0 million impact with respect to the change in CCA rates, the legislation has not yet been passed.  So once that legislation is passed, again consistent with the settlement agreement for the 2007 rate case, we will record that and credit it to ratepayers.

I think the distinction that we're making here, Mr. Thompson, is we're making a one-time adjustment for the impacts in 2007, but we aren't adjusting our rates, so that the rates for 2008 going forward do not reflect those reductions.

MR. THOMPSON:  Well, that's then what I wanted to get clarified.

So if the revenue requirement -- rather than having a deferral account clearance, which is what you're proposing, of 2.8 million, assuming everything gets passed, if the base year revenue requirement were reduced by the amount of those tax changes, then that, in and of itself, would have an impact in future years.  Do I understand that correctly?

MR. BIRMINGHAM:  If the rates were adjusted for those amounts, it would affect our revenue and earnings in future years.

MR. THOMPSON:  Okay.  And is the impact of those isolated 2007 base year adjustments what is -- you were discussing with Mr. Shepherd at 185 to 187?  He was comparing, as I understood it, the company's answer to Mr. Aiken in Exhibit 3.1.7, I thought, to something else.

I am just trying to get on the record what tracking base year adjustments of 2.8 million would have over the duration of the plan, what impact that would have.

MR. BIRMINGHAM:  The capital tax rate changes for the period 2008 to 2012 are the numbers that are reflected in the response to E3.1.1 in the third section of that response, with the caveat, Mr. Thompson, that, as we talked about yesterday, the taxable capital is the amount that the Board approved in 2007.

The actual impact would be whatever the taxable capital is in that year.

Same with the CCA.  The CCA rate change going forward beyond 2007 are the amounts in E3.1.1, subject to the caveat that the amounts that we have recorded there, in that estimate, are the amount of the 2007 Board-approved additions for each year, 2008 to 2012.  The actual impact would be based on the actual capital additions.

Furthermore, with respect to the income tax rate changes, there aren't any rate changes that affect 2007, but the impact going forward for 2008 to 2012 is shown in the middle section of the response to E3.1.1.

MR. THOMPSON:  All right.  So do I extrapolate from that that if the base year revenue requirement were trued-up, if you will, for the actual tax changes that are effective for 2007, that the impact over the entire IR plan period would be the sum of the 19.27 million and the 27.19 million?

MR. BIRMINGHAM:  That's correct.

MR. THOMPSON:  And I make that to be 46 million, which is more than 50 percent of the total.

MR. BIRMINGHAM:  That's right.

MR. THOMPSON:  Okay.  Now, Mr. Aiken distributed some materials to everybody.  I don't know that the Board members have them.  I would like to mark those, if I could.  I don't have copies and I am hoping Mr. Battista has some copies.

This is reference materials of London Property Management Association, Wholesale Gas Service Purchasers Group, Building Owners and Managers Association of the Greater Toronto Area.

MR. MILLAR:  That will be Exhibit K4.1.  Mr. Battista does have a couple of copies to circulate to the Panel.
EXHIBIT NO. K4.1:  REFERENCE MATERIALS OF LONDON PROPERTY MANAGEMENT ASSOCIATION, WHOLESALE GAS SERVICE PURCHASERS GROUP, BUILDING OWNERS AND MANAGERS ASSOCIATION OF THE GREATER TORONTO AREA.


MR. THOMPSON:  Just quickly with respect to this material, Mr. Birmingham, the first document are excerpts from 0017 decision.  Mr. Aiken has excerpts there dealing with what I call the base year adjustment issue, and then the second excerpt is from 2001-0029, which is an excerpt from a subsequent year's decision, where, as I understand it, the Board directed that the effect of the base year adjustment be carried forward to future years.

First of all, have I paraphrased those precedents fairly?

MR. BIRMINGHAM:  I don't think so.  That is not how I would characterize it, Mr. Thompson.

I think the first decision that you referred to as the 0017 decision, that's where the Board made some adjustments to base rates.  That was really in the context of the delay in the actual proceeding with respect to the determination of the parameters for our trial performance-based regulation framework.  It was delayed in such a way that it was really going to be the year 2000 that was going to be the base rates.  But we didn't have a cost-of-service application or any other type of rates proceeding for the year 2000.

So the Board, at page 61, paragraph 2.168, made some base rate adjustments that, in our view, was really a surrogate for having some form of year 2000 cost-of-service proceeding.

I say that mainly because of the language in paragraph 2.164, where the Board says that:
"Had Union submitted its PBR proposal early in 1999 supported by a test year forecast of costs and revenues for 2000, with the first price cap increase to occur in 2001, many of the arguments -- that is the base rate adjustments -- would have been dealt with."

So I think that's what happened in the 0017 case.  They made some adjustments with respect to the beginning rates because there wasn't any other way to determine what the appropriate rates would have been for the year 2000.

Furthermore, in that decision, they directed Union to make an adjustment which annualized the impact of the provincial income tax.

Then in the decision that you referred to as the 0029 decision, the Board dealt with two items.  The first one is the very issue that we're dealing with today, which is:  Are corporate tax rate changes, and in particular Ontario corporate rate changes, reflected in the GDP IPPI or not?  And they determined that in fact, they were reflected, in that no Z-factor adjustment would be made.

Furthermore, they determined that the annualized impact of the provincial tax changes in 2000 should be directed to the company, and have it reflected in rates by the amount of $900,000.

MR. THOMPSON:  All right.  Well, let me just, just before I leave this, in the settlement agreement, which - I don't think you need to turn this up - but this is the base rates adjustment section.  It was article 14 of the settlement agreement.

There were four items of base rate adjustments that were agreed upon, totalling $8.8 million.  Right?

MR. BIRMINGHAM:  That's correct.

MR. THOMPSON:  Then there was this outstanding issue about truing up for 2007 taxes.  Is that fair?

MR. BIRMINGHAM:  I wouldn't characterize it as an outstanding issue.  I thought what we had was an agreement that, to the extent that the estimated income taxes for 2007 were different than what we had included in our forecast at that time, that we would reflect those changes positively or negatively in a deferral account, to the benefit or to charge to ratepayers.

So in our view, that issue was settled with respect to 2007, which is why, in the 2007 deferral account disposition, we've recorded the $1.8 million of capital tax rate changes.

MR. THOMPSON:  Well, maybe we're splitting hairs here.  But the agreement reads:
"No settlement on the risk management component of this issue or the amount of taxes payable by Union as a result of tax changes resulting from changes to federal and/or provincial legislation or regulations thereunder."
That is --

MR. BIRMINGHAM:  Sorry, Mr. Thompson.  I was referring to the settlement agreement in the 2007 rate case, not in this proceeding.  I agree that with respect to this proceeding, there were three issues that were not settled and those were two of them.

MR. THOMPSON:  And one of them is the 2007 effect of tax rate changes.

MR. BIRMINGHAM:  I understand --

MR. THOMPSON:  As a base rate adjustment.

MR. BIRMINGHAM:  I understand that that's a potential application that others might want to make.

MR. THOMPSON:  Just so I understand.  So if we assume the Board agrees that there should be a 2007 base rate adjustment for taxes, what is the company's position as to how that should be tracked in the years '08 to 2012?

Does that finding, in and of itself -- is what I am asking -- produce the $46 million credit to ratepayers?

MR. BIRMINGHAM:  No.  It would produce more than that.  Because we would actually -- if the Board is to make a finding that the 2007 rates should be adjusted with respect to the changes in capital tax and CCA rates, then that is the total of $2.8 million that's reflected in Exhibit E3.1.4.

MR. THOMPSON:  Okay.  If it is only the capital tax and CCA, then it's the $46 million?

MR. BIRMINGHAM:  No.  If it's only capital tax and CCA for the period 2008 to 2012, then that's the $46 million.

MR. THOMPSON:  But if they make that finding for 2007, does it not automatically flow through?

MR. BIRMINGHAM:  It would be higher by the $2.8 million that is included for 2007.

MR. THOMPSON:  Thank you.  Let's move on to the Z-factor status of tax reductions, 2008 to 2012.

Just a couple of points:  The amount in issue is this $80.5 million that's referenced in Exhibit 3.1.1.  It could be more under different assumptions.  Is that what I should take from your discussion with Mr. Shepherd yesterday?

MR. BIRMINGHAM:  It could be more or less, depending on the actual amounts that materialize, yes.

MR. THOMPSON:  It is a big number.  Would you agree?

MR. BIRMINGHAM:  Yes, sir.

MR. THOMPSON:  It's an amount that's not attributable to any enhanced performance by Union Gas?

MR. BIRMINGHAM:  It is not a form of productivity initiative for Union Gas, no.

MR. THOMPSON:  It's an item that is beyond the control of the utility; would you agree?

MR. BIRMINGHAM:  Absolutely.

MR. THOMPSON:  It is clearly in excess of the Z-factor threshold specified in the agreement, of $1.5 million per year?


MR. BIRMINGHAM:  The Z-factor threshold factor of 1.5 million pre-tax per year, would see all of these changes exceed that threshold.

MR. THOMPSON:  Now with respect to this amount, the 80 million, am I correct 8 million of it is already baked into 2008 rates, by virtue of the Board's interim order?

MR. BIRMINGHAM:  I'm not following that question, Mr. Thompson.  The $8 million has been held outside of our interim rates.

MR. THOMPSON:  Well, maybe I am not reading the decision properly.

Where have I put that?  Excuse me, Mr. Chairman.

The Board issued a decision, and as I recall, interim order on March 4th, 2008, with respect to the settlement; and there was an attachment to the settlement agreement that talked about $8 million being credited to 2008 rates, and then there's a deferral account built around the 8 million.  Have I got that straight?

MR. BIRMINGHAM:  Yes, you do have that straight.

MR. THOMPSON:  All right.  So 2008 rates are lower by $8 million.  That, as I understand it, is attributable to the first tranche of the 80 million that is shown in your exhibit.

MR. BIRMINGHAM:  That's correct.

MR. THOMPSON:  Okay.  So 8 million is baked into the interim rates?

MR. BIRMINGHAM:  Yes.

MR. THOMPSON:  And 8 million is about 10 percent of the total of 80, roughly.

MR. BIRMINGHAM:  That's correct.

MR. THOMPSON:  And Union's position, with respect to that 8 million, is what?  It should be recovered from ratepayers?  Have I got that straight?

MR. BIRMINGHAM:  Yes, because ratepayers would already be receiving that credit through changes to the GDP IPPI FDD.

MR. THOMPSON:  All right.  Now, your proposition, then, with respect to this 80 million - let's assume it is 80 million for the purposes of discussion - as I understand it, that any tax change that eventually affects the inflation factor is not recoverable in rates; is that right?

MR. BIRMINGHAM:  That the income tax changes will flow through the company's accounts; it will not impact rates.

MR. THOMPSON:  Right.  So if we were dealing with an $80 million increase, Union would be eating that?

MR. BIRMINGHAM:  That's correct.

MR. THOMPSON:  Are you serious when you say that?  If this was the other way around, I suggest you folks would be howling for Z-factor protection.

MR. BIRMINGHAM:  Yes.  That suggestion would be wrong, because the same theory holds.  It's the same economic principle.  It's the same regulatory decision that we had last time, and that is we'd be eating those higher costs, to use your language, because we would be having a higher GDP IPI FDD and adjusting our rates accordingly.

MR. THOMPSON:  Okay.  And Union's position, as I understood the discussion yesterday, is that even if the government of Canada keeps inflation around 2 percent, that doesn't matter?

MR. BIRMINGHAM:  The income tax changes are reflected in the GDP IPI FDD.  There may be offsetting or contributing factors, including the Bank of Canada's policy around core CPI.

MR. THOMPSON:  So does it matter or doesn't matter?

MR. PENNY:  Perhaps Mr. Thompson can clarify what -- does it matter to what?

MR. THOMPSON:  To the resolution of this issue.  If it was a tax increase, would the fact that the government moved to keep inflation down have any influence on Union eating that?

MR. BIRMINGHAM:  No.

MR. THOMPSON:  So if it's a tax decrease, the government intervening to move inflation up doesn't have any impact.  Ratepayers lose on that scenario?

MR. BIRMINGHAM:  Ratepayers do not lose.  That's the point.  Our income tax expense will go down, but so will our rates.  Our rates will be lower than they otherwise would have been because of those tax changes.

MR. THOMPSON:  All right.  Well, let's move to that topic.  What we're struggling with here, I suggest, Mr. Birmingham, is two questions.  One is the extent to which a tax change, national in scope, eventually gets reflected in a measure of national inflation.  That's what I call the quantity issue.  Would you agree that's one aspect of the debate?

MR. BIRMINGHAM:  I would agree it's one aspect of the debate.  It is our position that they are fully reflected.

MR. THOMPSON:  Well, your position, as I understand it, eventually the full extent of the change filters down to the national rate of inflation, that we, in effect, get 100 percent credit at some point.  That's what I understood from the discussion yesterday.  Have I got that straight, folks?

DR. WILSON:  Is mine on?

Well, this is what we discussed at length yesterday, that the taxes do impact -- corporate tax changes do affect prices with a lag.  So there will be lagged effects from the tax reductions that occurred in the past, affecting prices during the -- the new period of the price cap regulation regime.  And there will be the tax changes now occurring having an impact.

We argued also that because of anticipatory effects, given that these are taxes that are legislated now for future changes, that we can expect the lags to be shorter than we would when the future tax changes are not known, until they occur at some time in the future.

So there would be a pretty large impact of the tax changes for '06/07 and '07/08 that Professor Mintz and I modelled in our submission occurring during that period, and there would be some spillover from the past, and when we looked at the two sets of changes, we thought they were roughly equivalent.

The other issue we discussed at length was this -- which you raised in the questions a minute ago, is the effect of the Bank of Canada offsetting.

Let me just address that change in the context.  If taxes went up, if corporate taxes were going up, and then if there were no intervention, although Union would of course be paying higher corporate taxes, then the GDP deflator by moving up would keep Union whole.  It would compensate them for that.

If the Bank of Canada, seeing the inflation rates rising above its 2 percent target, took offsetting action, then this would generally lower prices and wages and costs throughout the economy, and, therefore, although the GDP deflator would no longer show an upward tick from that, the bank's action would be lowering Union's costs.

So, again it would be -- we would be redoing our table 3 in our reply evidence and saying, Okay, let's look at the hypothetical case if this went the opposite way.  And I think we would come up with the same kind of result.

MR. THOMPSON:  Well, you have sort of bundled together the points I was trying to separate.  My first point is on the -- let's assume they get a $100 million increase or reduction industry-wide.  You're saying, as I understand your position, is eventually that $100 million gets -- the economic effect of that $100 million comes to rest with a $100 million reduction in the national measure of inflation.

In other words, it's 100 percent filtered down as opposed to a 60 or 70 or 80 or 90.  Is that what you're saying?

DR. WILSON:  Could you clarify?  Where did the $100 million come from?

MR. THOMPSON:  I am just picking a monetary amount

for --

DR. WILSON:  We did have an $80 million figure.

DR. MINTZ:  Are we talking about Union or are we talking about $100 million across the board, across the economy?

MR. THOMPSON:  I am talking about $100 hundred tax reduction.  Make it a billion.

DR. MINTZ:  $100 million is very small.  It is close to zero.

MR. THOMPSON:  Make it a billion.  Whatever.  It's a big number, but it's expressed in proportion to the economy as a whole, the national economy.  It's going to have an effect on the measure of inflation, the national measure of inflation, and I understood you folks to be saying, if it's a billion, then a billion is going to find its way as a reduction to that measure.  It's not something less than a billion, eventually.

DR. WILSON:  This is -- I think for corporate tax changes, this is not the correct way to look at that.  I mean, a lot depends on how the corporate tax changes are made.

You can have $1 billion worth of cost that would have a relatively small impact, and you could have $1 billion worth of revenue loss that has a larger impact.  You really have to look at the details of the corporate tax changes, how much of it are statutory rate changes, how much are capital cost allowance changes and how much are capital changes, capital tax changes.


And the correct way is what my colleague and his associate have done, is to calculate the impact of that on the marginal effective tax rate, and then work that through on to prices.

So I don't think it is a one to one.  It's not like the case of the GST, where you can look at the gross revenue impact, and then take that as a percentage of final domestic demand and say that gives you the kind of first approximation of the impact on the deflator.  It's not like that at all.

MR. THOMPSON:  Well, is it less than one to one, then?

DR. MINTZ:  Well, let me sort of turn it around a bit.

Suppose that you have a reduction in the marginal effective tax rate that implies on investments a reduction of $1 billion of tax, okay, which is not quite the same thing as the actual revenue reduction.

Then that will translate -- let's say it applies to all parts of the economy.  It is not just a corporate tax reduction, but let's say it is also something for unincorporated businesses, like increased capital cost allowances.  And let's say it also affects housing, through, you know, lower residential costs and things like that.  So it is right across the board, the whole economy.

Then what we are saying is that that will lead to a one-for-one reduction in prices.

MR. THOMPSON:  All right.  But these changes that have been made, the tax changes that have been made here, will they lead to one to one, or something less than one to one?  What's your evidence on that point?

DR. MINTZ:  We did not calculate the actual budgetary revenue changes for federal and provincial governments, associated with these changes.

What we looked at was the marginal effective tax rate on capital, which in our view is the only relevant statistic to understand how prices will react.

MR. THOMPSON:  So do we have anything that helps us with this one-to-one, or less than one-to-one debate from you folks?

DR. MINTZ:  It's not relevant.

DR. WILSON:  No.

DR. MINTZ:  It's not relevant.

DR. WILSON:  If you look at our table 2, page 6 of our -- unfortunately the title is on the previous page -- on page 6 of our reply evidence, what we're showing there is this effective marginal tax rate change of 3.1 percent, translating into -- over this two-year period.  These two years of tax change would translate, with some lags, into a 3.1 percent reduction in the price of corporate output.

Then with the various adjustments there for non-corporate output, because in this case we are modelling corporations, and for allowing for GST effects, then we get what we estimate to be the impact on the GDP final demand deflator, price deflator.  And that's what is relevant for the impact on Union, because that enters Union's price cap.

I don't know what the --

DR. MINTZ:  Let me sort of turn it around a little bit.  I mean what I'm saying is that the revenue calculation is irrelevant, in terms of talking about the impact in the prices.  What is relevant is the marginal effective tax rate calculation.  What we did is we looked at the impact of taxes on the cost of doing business, which is kind of -- what we really do is look at relative to the marginal cost of production which influences the price determination in the economy.

So when you calculate the price reductions and then look at Union's books and say:  Okay, if you have a certain price reduction, what does that mean in terms of their revenues that they're going to get under the revenue requirements as you calculated under the incentive plan?  Then one can go through that exercise.  But that has nothing to do with the government's budgetary revenues, because that's a different sort of calculation.

MR. THOMPSON:  All right.  Well let's move on to the lag issue.

Here, the topic, as I understand it, is the time it takes for the entire tax change, whether it's a burden or a benefit, to filter down to the inflation factor.

Is that a fair paraphrase of what we're talking about?  We're talking about the lag issue?

DR. WILSON:  Basically that.  There's also, if you were doing the ideal analysis, you would like to know the time pattern of the responses, whether you get a big response upfront and then a gradual tapering off, or whether there is some delay initially, followed by the adjustments.

MR. THOMPSON:  Okay.  Now, do I understand correctly that the lag can vary depending on the nature of the change?  Here we're talking about a tax reduction, and then what the initial beneficiary of that change does with the benefit.  Am I right?

DR. WILSON:  Yes.

MR. THOMPSON:  Okay.  So what's the slowest -- what is the action that would have the slowest filter-down effect?  Is that when Union just puts it in -- Union and everybody else in the industry just keeps for retained earnings?  It will filter down but filter down slowly?

Can you help me with the scenarios here.


DR. MINTZ:  Well, first of all, there's several things -- I know you're getting at short run versus long run. 
Let's say you get a tax reduction which leads to an increase in after-tax profitability.  Now, a company may decide they're going to want to invest in capital, but of course that takes time to do those sorts of things.  It may take several years before you actually put all of your plans in place.  It depends on the nature of the investment.  Some things would be very fast.  Some things will be slower.

So the question is:  What do you do with the money in the meantime?  Now, there are various things the company could do.  It could pay down debt.  In fact, my expectation is that most companies would end up reducing their debt initially -- mainly because they want to gear up later the debt, when they do have to shell out the money for investment.

They could put it into treasury bills and keep it as cash flows, which would add to their retained earning accounts.

Would they pay more dividends?  I suspect not.  Financial studies have shown that dividend payments tend to be pretty sticky, and when you only expect to have a temporary increase in your after-tax profits which you want to use for investment purposes, companies are very reluctant to start paying out a bunch of dividends, because people interpret dividends as a signal of how well the company is doing.  So my expectation is it is very unlikely to pay out dividends in the short run.

Then when the investment takes place, the company will either use its cash flow resources to pay for that investment, or if they use that cash flow to reduce their debt -- because maybe debt had a very high cost associated with it compared to holding treasury bills, especially US treasury bills these days -- then what you might want to do then is simply to go back to the bank or go back to the bond holders and say, Okay, now I want to raise more debt and it will be to now pay for this investment that we now need the money for.

So those are the kinds of things that will occur, at least I would expect, in the short run.


In the long run, of course, what's happened is that the corporate tax reductions have given incentive for companies to expand their investment and as a result, they will end up improving their productivity, reducing their unit costs and that will translate ultimately into lower prices.

So that's why we argue there are lags.  There will be lags associated with the current tax reductions.  Although because they're anticipated, those lags will actually be shorter than what you would normally think would occur.  And there's, of course, lags that occurred with the previous tax reductions that occurred in the period 2000-2006 that are feeding through the GDP deflator right now.  That is affecting Union's actual revenues that are coming through.

MR. THOMPSON:  Well, let's just assume in this case that what we're talking about is the extent to which the inflation factor, in this period 2008 to 2012, will capture tax changes occurring in 2008 to 2012, that that's the scope of the issue.

You make that assumption.  We're not talking about the effect of prior tax reductions on inflation rates now, and we're not talking about the effect of reductions in that timeframe on inflation rates later.

Let's just keep our focus on this 2008 to 2012 --

DR. WILSON:  I think that is not the relevant hypothetical you're making.  I understand that.  But our point is you can't ignore, if there are lags in response - we agree there will be lags - then you can't sort of eliminate the lagged effects of previous tax changes in your analysis of what's impacting on the GDP deflator.  You've got to take it into account.  Otherwise, you are throwing away something that would be having an impact.

MR. THOMPSON:  We can argue that as shifting from cost to -- as to whether what you say applies in a cost-of-service shift to IR, it may shift back to cost of service.  IR, incentive regulation.  But I just ask you to make the assumption that what I put to you is what we're talking about here.

We are talking about the extent to which tax reductions in '08 to 2012 will filter down to inflation in 2008 to 2012.  Can you proceed on that assumption with me?

DR. MINTZ:  No.

DR. WILSON:  No, our analysis also included the changes in 2007-2008, in our table and -- pardon me, in 2006-2007.  You clearly need to take that into account.  You clearly need to take into account some of the tax changes that have been previously put into effect, that are going to be having an impact on the GDP deflator.  So I just don't think it is appropriate to do that.

Now, one issue that we discussed yesterday was the extent to which the anticipatory effects can speed up the reactions.  I had reported that we had found, from a study that we had done with colleagues, that you could have a situation where, when there was a tax change that impacted on the cost of capital, that after five years you had realized 70 percent of the impact on the machinery and equipment investment and just under half for non-residential construction.

I mentioned that -- and this was based on this suddenly happens.  This was a sales tax change that impacted on capital prices, so no anticipatory effects.

These corporate tax changes are legislated in advance, so there will be anticipatory effects.  I said I would go back and look at a study we had done in the past, and I have done that.  We had done an analysis - this was Peter Dungan and myself; Dr. Mintz was not involved with it - and we had looked at the 1986 federal budget, which did involve a combination of corporate tax changes.

In this case, there was a phased-out reduction -- elimination, actually, of the investment tax credit for most types of investment, excluding R&D and some regional stuff, but most investment would see the investment tax credit that had existed eliminated.  At the same time, there was a phased-in reduction in corporate tax rates.

We then modelled that under two assumptions.  One is where there were no anticipatory effects, and the other was when we allowed for anticipatory effects, so the expectational effects coming through from those changes, and we get substantially different investment responses.

So, for example, because these changes were coming in with a one-year delay, if we ignore anticipatory effects, there would have been a zero impact in 1986 from the tax changes.  When we allow for the anticipatory effects, we get a 0.4 percent increase.

In the second year, without the anticipatory effects, there would be a small decrease, minus 0.14 percent, and with the anticipatory effects a larger increase of just over half a percent.

This is because, with that particular experiment - that was an interesting experiment - the firms could see they're going to lose the investment tax credit in the future, but in the future they will have lower corporate rates.  So there's an incentive for them there to move the investment in the current year and the following year when you still have most of the investment credits in place, but then in the future the tax rate on the yield from those investments would be higher.

So there's definite evidence here that anticipatory effects matter.  And it's going to be different in each case.  You can't just carry over what we did here from the -- what was in the October statement or what was in the five-year tax reduction plan, but it is evidence that these are non-trivial effects.

MR. THOMPSON:  Well, you have told me that in terms of -- there's a range of things that might be done with the tax reductions, capital investment scenarios.  There's a pay-down-debt scenario.  There's a treasury bill investment.   There's an increased dividend -- or there's a dividend policy possibility.

All of those take time to filter through to the inflation factor; am I correct?

DR. MINTZ:  They would take some time.  It depends on the nature of the investment, et cetera.  If it all goes into computers, the reaction could be a lot faster.

DR. WILSON:  And software.

MR. THOMPSON:  When it actually filters down, then we get the reduced prices, you say, of Union's products; is that right?

DR. MINTZ:  That is correct.

MR. THOMPSON:  You didn't mention the option of Union reducing its prices right away by the amount of the tax reduction.  That would be the quickest way to bring it home to consumers, would it not?

DR. WILSON:  You mean, they would take the position of immediately lowering their prices rather than over time, as they make the investments that are going to improve their productivity?  I mean, I...

DR. MINTZ:  I guess that is possible.

DR. WILSON:  It would be possible, but --

DR. MINTZ:  If they decide not to do investments, yes.

MR. THOMPSON:  Are they likely to do that in an incentive regulation regime?  Mr. Birmingham?  Unlikely, I would think.

MR. BIRMINGHAM:  Not just incentive regulation regime, but in any regime, for the very principles that we have been talking about.  It's already going to be reflected in the price escalator.

MR. THOMPSON:  Let's move on.  In response to a question Mr. Kaiser put to you, Mr. Birmingham, you said that tax reductions in -- the tax reductions won't have any impact in 2008.  That was at transcript -- year one is what he said.  That is at transcript 188.

MR. BIRMINGHAM:  The full $8.3 million be reflected in year one?  We don't think so.

As Dr. Mintz and Dr. Wilson have said, there may be something in the 2.04 percent escalator for an anticipatory change in GDP IPI FDD for those changes, but I don't think we'd expect that the whole thing -- that there would be a one-for-one match in that particular year with that 8.3 million reflected in the GDP IPI FDD.

MR. THOMPSON:  Well, I took your answer to be none of the 8 point million -- none of the 8 million is going to filter down in 2008.

MR. BIRMINGHAM:  It's hard to determine --

MR. THOMPSON:  Was that what you intended with that answer?

MR. BIRMINGHAM:  No.  I was referring to the entire 8.3, and the answer was, no, I wouldn't expect it to be -- would there be some?  It's hard to tell.  I think one of the things that Dr. Mintz and Dr. Wilson are saying is that to pick a particular year and say, Here is what the impact is, given all of the leads and lags and anticipatory impacts, you're looking for a precise calculation of something that's imprecise.

MR. THOMPSON:  Would most of the 8 million not impact in 2008?  Can you help us with this point at all?

MR. BIRMINGHAM:  I don't know.

MR. THOMPSON:  And on the point of how the Board is dealing with these tax changes on the electricity side in IRM - and this is the 2nd generation IRM for electricity utilities - I did draw your attention to a couple of documents the Board issued in that connection by e-mail some time ago.

One is a letter from the Board to licensed electricity distributors and other parties dated November 21st, 2007, and a second is a document entitled "2008 Electricity Distribution Rates Backgrounder".

Do you have those, Mr. Birmingham?

MR. BIRMINGHAM:  I do.

MR. THOMPSON:  Could I have those marked, please Mr. Millar?

MR. MILLAR:  Yes.  Exhibit K4.2.

MR. THOMPSON:  Could the Board be provided with -- oh, I've got them.  I thought I gave them to you, Mr. Battista.

MR. MILLAR:  There's two documents, Mr. Thompson?

MR. THOMPSON:  Yes.

MR. MILLAR:  The first one, K4.2, will be the November 21st, 2007 letter from the Board regarding cost of capital and 2nd generation incentive regulation mechanism.

The second document is dated March 13th, 2008.  It's another communication from the Board regarding 2008 electricity distribution rates backgrounder.
EXHIBIT NO. K4.2:  LETTER DATED NOVEMBER 21, 2007 FROM THE BOARD TO LICENSED ELECTRICITY DISTRIBUTORS AND OTHER PARTIES.
EXHIBIT NO. K4.3:  OEB DOCUMENT ENTITLED "2008 ELECTRICITY DISTRIBUTION RATES BACKGROUNDER" DATED MARCH 13, 2008.



MR. THOMPSON:  If you have the November 21st letter there, Mr. Birmingham, this is a letter where the Board describes how it intends to effect income tax rate changes as part of the 2008 incentive regulation mechanism for electricity distributors.

Is that a fair paraphrase of the letter?

MR. BIRMINGHAM:  These are the adjustments to the 2008 incentive regulation mechanisms, yes.

MR. THOMPSON:  Then in the second document, Exhibit K4.2, if you go to page 3, the Board describes the tax changes that it made for 2008 to the utilities who -- the electricity distribution utilities that had their rates set on the basis of the 2nd generation IRM.

Do you see that down there in the second-last bullet point on page 4, "tax changes"?

MR. BIRMINGHAM:  I do.

MR. THOMPSON:  I suggest to you that for electricity utilities, the Board is passing through to the ratepayers 100 percent of the benefit of the tax reduction in 2008, at least.  Would you agree?

MR. BIRMINGHAM:  Yes.

MR. THOMPSON:  So if we maintain symmetry between gas and electricity distributors for 2008, would it follow that the 2008 interim allocation, in your case, would be confirmed?

MR. BIRMINGHAM:  The difficulty that I have in answering that question, Mr. Thompson, is, with respect to this determination, there isn't any evidence on this issue.  We don't have Board findings that are based on that evidence.  And there are different circumstances between natural gas and electricity.

As an example, I don't know how the payment in lieu of taxes for the electricity distribution utilities affected the Board's decision.

So from our perspective, there's no need for symmetry between electricity and natural gas, just like there is no need for symmetry, frankly, between Enbridge and Union.

But to answer your specific question, if they're just going to take the same treatment of us as they did of the utilities on the electricity side, then, yes, they would have to be passed through.

MR. THOMPSON:  Are you aware that the inflation factor in the electricity 2nd generation plan is the same inflation factor that you folks have?

MR. BIRMINGHAM:  I am.

MR. THOMPSON:  So would you agree these letters suggest that the Board is treating tax reductions as something lying outside the ambit of the electricity-related inflation factor?

MR. BIRMINGHAM:  Well, they're treating it differently than the finding that they made in our 0029 decision, and different than what the economic principles would suggest.

Whether there's some reason for that that is unique to the electricity distribution utilities, I don't know.

MR. THOMPSON:  I have just a few questions left about the pace at which the benefit of a tax reduction or the burden of a tax change filters down to the inflation factor.

There was considerable discussion about lags yesterday and again this morning.  But when I looked at your evidence again last night I can't find anywhere where you folks actually make an estimate of lags, the duration of lags.

You say it could be shorter, it could be longer, depending on different circumstances.

Dr. Loube has said he looked at that issue and suggests that 25 percent of the taxes be recoverable in rates.  75 percent be treated as a Z-factor.  And he bases that on a US government report.

Can you help us with that percentage?

DR. WILSON:  Well, we did provide estimates based on the study that is forthcoming of sales tax reform in Ontario.  That's what I referred to where we showed in those simulations that about 70 percent of the impact would be realized in the fifth year.  This is without allowing for the anticipatory effects.

I think when you put the anticipatory effects in, you're going to get more of that being realized within five years.  Similarly, for -- That was for machine and equipment, which includes software and so on.  I can't conceive of lags being as long as 25 years, certainly for machine and equipment investment.

With non-residential construction, again, not allowing for anticipatory effects, we get just under half of the eventual effect being realized on non-residential construction. But again, when you allow for anticipatory effects, there would be a larger amount realized within that five-year period.

As I indicated earlier, previous studies that Professor Peter Dungan and I have conducted indicate that when you allow for anticipatory effects, they can be quite substantial, bringing forward investment into the earlier years of the period.

MR. THOMPSON:  Do I understand that you have a tool for estimating lags?  There was a discussion yesterday about something called focus.  Is this a tool for estimating lags?

DR. WILSON:  No.  Focus is a macroeconomic model and it's built within the framework of the national income accounts that Statistics Canada publishes.

Focus has a number of what we call behavioural equations, where we estimate -- or my colleagues, I should say; I have done very limited estimation related to this model -- estimate, for example, what drives consumer durables.  And there could be lags there.  There could be past changes in income because consumers may react with a lag, as well as the impact of things like interest rates and taxes on their decisions.

Similarly for businesses.  There are equations predicting how quickly businesses react to changes in the user cost of capital, which includes tax factors, when they make decisions on machinery-and-equipment spending; and another equation looking at how they react for the non-residential construction.

So that model, like any econometrically estimated macroeconometric model, will of necessity have lags, because that is the reality we're looking at.  People don't instantly make the changes in response to changes in their income or in prices, and so on.

But that doesn't mean that we've got the magic answer here.  You might be able to go to another econometric model.  Like, the Conference Board of Canada has an econometric model.  There's a private sector producer of models, Global Insight.  They have an econometric model.  And you could look -– well, what's the lag patterns with theirs?  They may indeed differ from ours.

You could get different results.  But I don't think you would find with any macroeconometric model that you would have zero lag and instant reaction.  You are typically going to have some lags.

Now, some types of spending react more quickly than others.  We've given the example, and this is pertinent to this case, that you are going to have a much more rapid reaction of machine-and-equipment spending than you will for non-residential construction.

And the intuition there is pretty obvious, even if you're dealing with, say, the case of a small farm.  You go out to buy a piece of agricultural equipment, you may have to order it, but you're going to get deliver which within two or three weeks.  If you're going to build a new barn, or put an addition on your barn, or build an equipment shed, that takes a while.  You have to get a contractor lined up and it takes a while to build it, and so on.

Of course, for large corporations, then, there can be even more dramatic differences, because they may have very large types of construction, like developing a mine, and there can be regulatory approval issues that take time to be resolved.

So that's an example of the differences relevant to this case.  But I think those other lags are just not credible.  Twenty-five percent after how many years?

MR. THOMPSON:  Well, he's suggesting an X-factor --sorry, a Z-factor of 75 percent.

DR. WILSON:  No.  I think that's far too sluggish.

MR. THOMPSON:  I understand you to be saying if we used your residential lag estimate, it would be 50 percent.

DR. WILSON:  Non-residential, without allowing for the anticipatory effects, we would get a 50 percent effect.  But non-residential investment is smaller, and machine-and-equipment investment now is about double the size of non-residential construction in the economy as a whole.

And there's some of the changes, like the improved capital cost allowances changes for manufacturing, that's going to primarily be impacting on the machinery and equipment; is it not, Jack?

DR. MINTZ:  Right, and it's going to be a lot during this period because it expires by 2012.

DR. WILSON:  Yes.  So analogous to what we found with the 1986 budget, a tremendous incentive to move activity ahead, earlier in time.

MR. THOMPSON:  Would you agree that the determination of this, if you will, lag issue involves an exercise of judgment?  Somebody has to make it, based on the information that's available. 

DR. WILSON:  Yes.

MR. THOMPSON:  Okay.  Do I understand you do not have a lag estimating tool?  I listened to a long discussion, but --

DR. WILSON:  We moved this model for this particular simulation.  The model has lags.

It isn't like I go out and I measure a specific lag.  The model has a lot of equations.  They have a lot of lag factors in it.  And when we used that model, we got estimated -- estimations of the lag effects.  You could turn around, as I said, and use a different macroeconometric model and you may get a different time pattern.  It could be faster or slower than what our model would show.

MR. THOMPSON:  Okay.  Well, let's leave it there.

Now, apart from this lag issue, are there any other criteria that should be examined, in your view, to apply when considering this question of the extent to which tax changes should be accorded Z-factor treatment, such as, for example, the objectives of an incentive regulation plan which is for ratepayers, to make them no worse off than they would be under cost of service.  Is that something we should be considering?

DR. WILSON:  I'm not sure what your question is.  Could you repeat it, please?

MR. THOMPSON:  Yes.  On the lag issue and the exercise of judgment, determining how much of the lag is likely to occur during the term of the IR and how much later, are there other factors that we should be considering, in your view, such as the objectives of an incentive regulation plan in Ontario, which one of them is that ratepayers be no worse off under IRM than they would be under cost of service?

DR. WILSON:  Yes.  And another is that the plan should provide an incentive for the firm to be efficient, to improve its productivity and its competitiveness, and a better incentive than you get under cost-of-service regulation.

And another objective is to have administrative and regulatory simplicity, so you reduce the cost of the regulatory process.

MR. THOMPSON:  All right.  My last topic is implementation, Mr. Birmingham.  I will ask you this.

Assume that the Board agrees with ratepayer representatives that part of the tax reductions is to be accorded Z-factor status.  Assume the percentage of 75 percent for the purposes of this discussion.

Do you have any recommendations for us as to how that feature of the Board's decision should be implemented year by year?  Is there --

MR. BIRMINGHAM:  I think the main recommendation that I make, Mr. Thompson, is that it be done on actual numbers.

So while we have used the 2007 Board-approved for capital additions, for taxable income, and for taxable capital, you actually want to take those amounts on an actual basis and determine what they are after the year end.

MR. THOMPSON:  Right.  So that would be part of the annual rate presentation process?

MR. BIRMINGHAM:  I suspect it would be more the -- it would depend on the timing.

I think the issue will be you will want to get to year end actual amount, but our rate-setting is done on a prospective basis, so we would have to determine how that process would work.  But one way or the other, you would want to be dealing with actual numbers.

MR. THOMPSON:  Is that the way it is being handled in the Enbridge settlement; do you know?

MR. BIRMINGHAM:  I don't know.

MR. THOMPSON:  In terms of the allocation of tax reductions to rate classes, am I correct that that is -- the allocation factor used to do that is the same factor that is used to allocate return?

MR. BIRMINGHAM:  That's generally true, yes.

MR. THOMPSON:  Thank you very much.  Those are my questions.

MR. KAISER:  Mr. Buonaguro.
Cross-examination by Mr. Buonaguro:


MR. BUONAGURO:  Thank you, Mr. Chair.

We sent out some material last Friday that we thought we might be using in cross-examination.  I gave copies to Board Staff.  When we sent them out on Friday, we sent out the entire PDFs with the entire articles in them.  We prepared paper copies.  We just have extracts that we might be referring to.

MR. MILLAR:  Exhibit K4.4, and these are VECC cross-examination materials.
EXHIBIT NO. K4.4:  VECC CROSS-EXAMINATION MATERIALS.


MR. BUONAGURO:  I have copies for the panel, if they don't have them already.

DR. MINTZ:  What's the article?

MR. BUONAGURO:  Well, this is all a preface to say that we're probably not going to refer to many or all of them in cross-examination, because most of our cross-examination has been covered by Mr. Shepherd in his very precise examination yesterday, but we think we might still be referring to the material in our argument, potentially, so we thought it would be useful to have it on the record.

I think I might still refer to a couple of the articles in this cross, this much-shortened cross.

If I might just pick up on a few things that I heard this morning, if I may.

DR. WILSON:  Yes.

MR. BUONAGURO:  Okay.  This is for Mr. Birmingham.  Mr. Thompson had suggested that one of the things that Union might do is reduce their prices immediately to confer the benefit of the tax reductions to consumers, and I believe Mr. Mintz and Mr. Wilson said it is possible, and it was left to you to speak on behalf of Union.

You said that under no regime would that be a consideration, or something to that effect.

My understanding is that under a cost-of-service regime, that is exactly what would happen.  The full effect of tax reductions would be fully and completely passed on to consumers.  Am I correct?

MR. BIRMINGHAM:  When you're doing a single-year forecast, we would use whatever taxes rates are in effect at the time to apply that to our cost-of-service application.

What I was referring to, Mr. Buonaguro, is that to the extent that costs are already being reflected in a rate adjustment, you're not going to pass those through and double-count their effects under any regime.

MR. BUONAGURO:  Okay.  But I am correct that on a cost-of-service regimes, if you are under one-year cost of service, whatever tax reductions will be flowed through to ratepayers?

MR. BIRMINGHAM:  Yes, because they hadn't already been reflected in our rates at that point.

MR. BUONAGURO:  Thank you.  Also in response to Mr. Thompson, he was asking you about symmetry as between the electric utilities and the gas utilities.  And in your response, you said that wasn't necessary.  You went on to say that -- just as there was no symmetry required as between Union and Enbridge.

Is there something specific as between Union and Enbridge that doesn't require symmetry?  Is there some fundamental difference between the two where symmetry wouldn't be a good idea?

MR. BIRMINGHAM:  No.  I was talking about the incentive regulation mechanisms, Mr. Buonaguro.  So Enbridge has a revenue cap.  It's based on a percentage of inflation.  They have agreed to split the tax differences.  There's a variety of differences in the parameters of their framework compared to ours.

My only point is their parameters are what they are for a number of reasons.  Ours are different for a number of different reasons.  The electricity distribution ones are different again.

MR. BUONAGURO:  All right.  This one is for the rest of the panel.  Just so I understand on a very high level what the evidence was, reading the original January 4th evidence and turning specifically to the conclusion, it says:

"Thus we conclude the national GDP final demand deflator will more than compensate for the effective corporate tax reductions on natural gas distributors in Ontario."

My understanding of it, at least at the time, was that - and using the numbers that we have been playing around as being the effective tax reductions on Union - that ratepayers shouldn't worry about the $80 million in tax reductions that they're going to -- that Union is going to experience over the next five years because the GDP deflator will effectively take away about $80 million from Union over the next five years as an offset.  That's how I understood it.

Is that sort of what that evidence was supposed to say?

DR. MINTZ:  I think that would be the correct interpretation.  I think the reply evidence, I think, lays it out I think in more detail, taking into account that capital intensity and some of the other changes that have occurred, but I think that the main point is that -- and this is our view -- is that to the degree there is a similar change for Union Gas as you would get for the economy as a whole, that in that case, there is no Z-factor adjustment that is required.  It's a similar change that is very important.

If for example, a tax reform took place, where there was no change in the aggregate effective tax rate on capital and no change in the cost of doing business in an aggregate sense, and you know, let's say, you had base broadening and rate reductions doing that, and so therefore no impact on the GDP deflator, then in that case, if Union happened to get, let's say, a reform that ended up in their favour, then we would argue for a Z-factor adjustment in that case.

MR. BUONAGURO:  You mentioned the reply evidence, just so I can tie this up, that's where something -- it seemed new seemed to creep in, from my simple understanding of the material.  Where, again, in the last sentence of that reply evidence, you say:

"In either situation, the GDP IPI FDD would appropriately reflect the combined impact of the tax policies and monetary policies on Union's average unit costs."

Which suggested that we don't have to worry about the $80 million because the GDP IPPI FDD will increase their unit costs by $80 million more than they would have normally, over the next five years.

Is that one interpretation of what might happen over the five years?  Is that what this evidence is saying?

DR. WILSON:  Well, we weren't looking at dollar values when we prepared the evidence.  We were looking at how monetary policy, if it offset the impacts of the tax reduction on the GDP final demand deflator, what would happen.

What would happen is that as it offsets the effects, Union's costs would rise by the same percentage as the costs in the rest of the economy.  So we're looking at the impact of those two years, tax reductions 2006-2007 and 2007-2008.  So we weren't including future tax reductions in that calculation.  

And so if you were looking at that, you would have to apply that 2.2 percent factor to Union's total cost, to their capital costs, input, purchase material costs and labour costs.

DR. MINTZ:  I think there's also an important principle here that is behind that table, and that is:  Just for a moment, suppose that there were no tax changes at all.  And let's say there's something else that has happened in the economy where the Bank of Canada either, you know, tightens up or loosens monetary policy, causing an interest rate change.

And let's say that affects Union Gas, or that affects the GDP deflator, and therefore it will also affect the revenue requirement that Union Gas gets.

Because on -- the assumption is that also their costs, Union Gas costs, will only rise by whatever GDP deflator is, the change in that GDP deflator.  How it impacts on the economy is presumed to apply also to Union Gas, in terms of its costs.

So because the whole concept of the incentive-based regulation is to encourage Union Gas and other companies that are being regulated to try to achieve efficiency, one uses this kind of aggregate deflator to try to take that into account.  That aggregate deflator is affected by monetary policy, regardless of what change occurs.

So then the issue becomes:  To what extent do you take into account tax factors, other factors, and to what extent do they get passed through, in terms of Z-factors?

I think what we're trying to say is that you have a whole set of tax changes that have occurred, in fact some of them biased more to other industries like manufacturing than they were to Union Gas.  That caused the price deflator to go down by a certain amount.  Whether the bank reacts to that or not will depend on all sorts of conditions.  Whether it shows up in the core inflation, whether it's above 2 percent inflation or below 2 percent inflation, that's kind of irrelevant.

The main point is that the price deflator will be affected.  The GDP price deflator will be affected by those tax changes in an aggregate sense.  And if it's the same sort of impact as what has occurred, in terms of Union Gas, in terms of its overall cost of doing business once you take into account those tax factors, then what we're saying is that you really are taking on one hand from Union Gas, in terms of lower inflation rate, and therefore money off their account, even though they are getting this lower taxes on the other side.  But the two offset each other.

MR. BUONAGURO:  I understand, when you said today in response to my question and several times I think yesterday, that you weren't concerned about the dollar values because that is not really your job.  You are more concerned, I guess, about the theory and how the percentages play out over five years.

But from a practical point of view, certainly from a ratepayer point of view, we're all worried about the dollars.

And my limited understanding of what you just said is:  Don't worry about the $80 million.  Either it's Union's getting that $80 million taken away from them in the GDP deflator, or their costs -- even though their taxes are going down, their costs are going to go up by about $80 million.  That's what I just heard.  Is that a reasonably simple result that I should take from that?

DR. MINTZ:  Well, I think what we are saying is that the price deflator is going to go down by the overall changes in the taxes that have occurred affecting all industries.  I guess this is the undertaking that we have agreed to.  We will put that through the dollar count to show the impact.

MR. BUONAGURO:  Okay.  Well, I guess we will wait for the undertaking, then.  Thank you.

I just have a few more questions that are I guess a little more theoretical, certainly in my mind.

Yesterday, you talked about the large stimulus to investment that's occasioned by cuts in the corporate tax rate, and you identified or you testified that monetary policy dominates fiscal policy with respect to inflationary impacts.

Is that a fair summary of part of the evidence from yesterday?

DR. WILSON:  I am having trouble hearing you.

MR. BUONAGURO:  I'm sorry.  I have gone to my computer notes.  Maybe I turned my head.  Yesterday, you gave testimony regarding the stimulus to investment occasioned by cuts to the corporate tax rate, and you testified that monetary policy dominates fiscal policy with respect to inflationary impacts.

Is that sort of a fair statement as to --

DR. WILSON:  I think this was in the context of preparing forecasts of inflation, and I said over the medium term, forecasters would be expecting the Bank of Canada to be trying to keep inflation near the 2 percent target, and certainly reacting if it moves significantly away from that target.

But it's important to note, in the context of our reply evidence, that whether or not the Bank of Canada is acting to offset the impacts on the GDP deflator, the real effects of the tax stimulus work through in virtually the same way, that you are going to get the stimulus to real investment and you are going to get the realized improvement in labour productivity as capital is substituted for labour.

So in no sense should you take away from this guide that somehow monetary policy neutralizes everything.  It doesn't.  Its focus is on the inflation rate.

So you will find now when we do the analysis of federal budgets, there is much more attention focussed on the distributional and incentive effects and how it's going to affect one component of demand over another.  And much less on these aggregated -- you know, is inflation going to go up or down because of what the government is doing, because there's a recognition here that that macro indicator is pretty well the Bank of Canada's job and the Bank of Canada is doing a reasonably good job of looking after that.

MR. BUONAGURO:  Well, thank you for that.  That was just a set-up question, so I got much more than I anticipated.

I was just trying to confirm the very simple principle, which was A: corporate tax reductions are a stimulus to investment.

DR. WILSON:  Right.

MR. BUONAGURO:  True, I would think yes.  Sorry, I spoke over you.  That's true?  Right?

DR. WILSON:  Yes.

MR. BUONAGURO:  And B: monetary policy dominates fiscal policy.  I didn't say eliminates.  I wasn't suggesting that you said it eliminated yesterday, but it is the more important of the two, as opposed to fiscal policy with respect to inflationary impacts.

DR. WILSON:  With respect to inflation, yes but not with respect to anything else.

MR. BUONAGURO:  With those two things in mind, we asked you an interrogatory.  It's Exhibit E3.4.1.  I could read out the whole question and answer, so I don't think you need to have to turn it up, unless you would like to.

DR. WILSON:  Three ...?

MR. BUONAGURO:  E3.4.1.

DR. WILSON:  I have 3.2.4.

MR. BUONAGURO:  It's the last set of interrogatories in the package, I think.

DR. WILSON:  Yes, okay.

DR. MINTZ:  It's right here.

DR. WILSON:  You've got it and I don't.

DR. MINTZ:  You've got it.  It's just finding it.

MR. BUONAGURO:  Okay?

DR. WILSON:  Yes.

MR. BUONAGURO:  Thank you.  The question in the interrogatory was:   
"Please describe fully the macroeconomic transmission through which lower federal corporate tax rates are reflected in the overall price level and its rate of change in the Canadian economy."

And the response, in full, was:   
"The reduction in corporate taxes acts primarily by providing a stimulus to investment by reducing capital costs.  As investments are put in place, the potential GDP of the Canadian economy is increased, unit costs are lowered and reduction in costs passed on in the form of lower prices."

And then later on, we have another IR, 3.4.4, where you were asked whether a cut in federal corporate tax rates provides a fiscal stimulus to the Canadian economy.  The response was:
"A decrease in corporate taxes provides a stimulus to corporate investment which initially increases aggregate demand and subsequently augments aggregate supply."

I would ask, with those two responses in mind, whether, in your view, the initial stimulus to investment that is spoken about there, which increases aggregate demand induced by the tax cut, does that have any impact initially on price level?

DR. WILSON:  Yes, it could have a positive impact on the price level if it were not offset by market policy actions or by other fiscal policies.

You have to always look at these changes in the context of everything else that's happening on the policy front.

So in that case, the tendency, if prices were to go up - that would also include wages going up, costs going up, as well, if the investment -- sorry, if the investment boom stimulated by the tax reductions were not offset, that would have a positive effect on the GDP deflator initially.

But it would be very likely that that sort of development would be offset by monetary policy, if it were to push inflation -- yes, and, of course, as the investment gets put in place, then you do have the supply side being enhanced, and monetary policy should then act, turn around and accommodate an increase in aggregate demand to match the augmentation of aggregate supply.

So this could all -- with the right kind of fine-tuning on the monetary front, this could all be smoothly accomplished, with the real gain showing up in labour productivity gains and without much impact on the GDP deflator.

MR. BUONAGURO:  Okay.  But you would agree that initially, all else remaining constant or unchanged, the initial impact of a tax reduction increases aggregate demand, which increases the price level, which is essentially what you're saying --

DR. WILSON:  With a lag.

MR. BUONAGURO:  -- would increase inflation?

DR. WILSON:  With a lag.  You will find -- you will remember yesterday, when we were cross-examined with that report from the current chairman of the Federal Reserve, Bernanke, about the lags, and in the response to demand changes, you will get a real output response, initially.  You know, the investment starts growing, and then you have what we call multiplier effects on other components of demand.

You can also -- because we import a lot of equipment, you could have some downward pressure on the Canadian dollar.  That would, then -- as that occurs, you get some price effect from that depreciation, and then you could also -- with a lag, the demand effects start to feed through on the wages.

The Bank of Canada would be watching both of those developments, and if there were any significant inflationary pressure generated by that fiscal policy, you would see the bank offsetting that.

So certainly whenever we have been, in recent years, doing our modelling work on federal budgets, we have always been building in a Bank of Canada reaction.  So pretty well the demand effects get neutralized, and we then look at -- focus on, as I said, the distributional and other effects of the fiscal policy.

MR. BUONAGURO:  So the first effect would be -- well, probably a price increase, and then it filters through and the Bank of Canada may or may not react.  The money gets put into investments, which increases aggregate supply, for example.  Things like that sort of happens after that, but it goes up and the price level would potentially go up, and then --

DR. WILSON:  It could.  But, I mean, these things the bank would know about.  I mean, when the federal budget is brought down, the bank economists are going to look at it carefully, and there's a lot of communication between the Department of Finance and the Bank of Canada.

So I don't think you can think of the bank being asleep at the switch until they say, Oh, suddenly prices are going up and the Canadian dollar is going down and it's due to this particular change.

So I don't think there will be a long lag in the response side.

MR. BUONAGURO:  I would like to turn to one of the articles I actually am going to refer to in the cross-examination in the package of material that we have.  I don't know if you are working from print-outs of what I sent or whether you actually have what I have in front of me.

It's the -- on the package that I distributed today, it is A1.  It's called "Monetary Policy Report May 1995".  We specified the page that we would be talking about today would be page 17.

There is a quote there from the Bank of Canada which says, and I will just read it:

"The implications of federal and provincial budgets for aggregate demand are an important consideration in the conduct of monetary policy.  Specifically, the magnitude and timing of fiscal policy actions affecting total demand in the economy must be considered in determining the appropriate path of monetary conditions."

DR. WILSON:  What page is that?

MR. BUONAGURO:  That is page 17.  I am working from my package, so I only have page 17.  It is labelled A1 in the package I distributed yesterday.

DR. WILSON:  Outlook for inflation?

MR. BUONAGURO:  Yes.

DR. WILSON:  Okay.

MR. BUONAGURO:  In the package, the passage is actually underlined.

DR. WILSON:  Where are we?

DR. MINTZ:  Here. [Indicating.]

DR. WILSON:  Yes.  Well, more or less consistent with what I said.

MR. BUONAGURO:  Right.  Well, perhaps you could just -- in the context of this quote, maybe you could tell me how you interpret that in connection with what you just said about --

DR. WILSON:  Again, I am having trouble.

MR. BUONAGURO:  Sorry.  I have this problem often.  It's not you.  It's me.

Perhaps you can provide us an interpretation of what this statement means in connection with what you have been saying earlier about the initial impact of fiscal policy.

DR. WILSON:  My colleague will respond.

DR. MINTZ:  First of all, this statement is about budgets, and a budget is, you know, expenditures and revenues, and then there is surpluses or deficits.  At this time there -- in 1995, there were a lot of deficits.

So you can't -- when you are talking about, let's say, a corporate tax cut, it also -- you don't know what else is going on with the budget.  There could be spending reductions going on at that point.  In fact, in 1995 there was.  And, in fact, there wasn't any corporate tax cuts in 1995, if I recall.

To sort of understand -- you can't just simply say, Okay, let's look at a corporate tax cut in isolation of what is also happening in terms of the budgets.  What this statement is all about are the fiscal budgets, and there could be all sorts of things that are being changed as part of that budget.

So I am not quite sure where your question is leading to, to be frank.

MR. BUONAGURO:  I don't think I am suggesting that things should be seen in isolation.  I am just asking confirmation of a simple point, which is that fiscal policy actions affecting total demand, which is the second sentence in the paragraph, are considered by the Bank of Canada in determining the appropriate path of monetary conditions; i.e., they make a fiscal -- fiscal policy actions affect demand, i.e., you reduce taxes; that is, that increases aggregate demand.  And that's something of significant importance, significant enough that it would be one of the things mentioned in the Bank of Canada reports, simply put.

DR. WILSON:  They would take it into account.  They would take into account other developments, as well.

I mean, for example, if the federal budget, if we were bringing down this April, say, say the budget had been delayed, if we were bringing down a federal budget and there was fiscal room for a stimulative policy, and Canada, looking at what has happened south of the border has decided to emulate some of the American fiscal stimulus by providing a personal income tax rebate or something, well, the bank may be looking at the same data.  And if, in fact, this is stimulated by evidence that the economy is going into a recession, then the Bank may not offset that.  The bank may say, Okay, that's good; we're getting some fiscal stimulus.

What it would mean is they would do less monetary stimulus than they might otherwise would.  They would be taking into account that stimulus along with other developments, like what's happening in the US and so on, as they plan their monetary policy.

MR. BUONAGURO:  Yesterday, you mentioned possible impacts of changes in the Canadian dollar, the Canadian dollar's external value.  You also spoke of the exchange-rate channel through which effects may be transmitted.  

We put in the record at B4, a paper by some economists at the Bank of Canada dealing with exchange rate pass-through.  It is labelled B4 in the material.

DR. WILSON:  B4?

MR. BUONAGURO:  It's one of the things we sent out last Friday.  I am assuming you have had a chance to read it, and I am not expecting we go through the whole thing.  I just wanted to give you the opportunity to provide any comments on what the paper says in relation to your testimony yesterday.

DR. WILSON:  We have it.

MR. BUONAGURO:  Did you get a chance to read it, or are you familiar with the paper?

DR. WILSON:  I didn't have a chance to read it carefully.

MR. BUONAGURO:  Okay.

DR. WILSON:  What are your questions?

MR. BUONAGURO:  Perhaps I will take you to one specific conclusion that I would like to maybe have your comment on.

At page 21, right underneath the heading "pass-through to import prices" the statement is that:
"The bulk of the literature on exchange rate pass-through is motivated by a common finding and empirical studies that import prices do not respond fully to changes in the exchange rate, even in the long run."

Would you agree that this phenomenon tends to mute the effectiveness of the exchange rate channel, which you were speaking about yesterday?

DR. WILSON:  Again, I can't hear you.

MR. BUONAGURO:  I'm sorry.

I will say the whole thing.

Under the heading pass-through to import prices, it says:
"The bulk of the literature on exchange rate pass-through is motivated by a common finding and empirical studies that import prices do not respond fully to changes in the exchange rate, even in the long run."

And I am asking you if you would agree that this phenomenon tends to mute the effectiveness of the exchange rate channel, which is something that you spoke about yesterday.


DR. WILSON:  I don't know whether I agree with that statement, but to the extent that the pass-through is sluggish, then there's a smaller impact on domestic prices of the exchange rate, either appreciation or depreciation.

Whether or not, I think it is more relevant as a short- to medium-term issue, than a long-run issue.  It would be surprising if in the very long run, there wouldn't be a full pass-through, because, you know, sort of a fundamental view of the determination of exchange rates in the long run is purchasing power parity, which would imply complete pass-through.

MR. BUONAGURO:  Okay.  Thank you.  Those are my questions.

MR. KAISER:  Thank you.  We'll take the morning break and come back in 15 minutes.

--- Recess taken at 11:15 a.m. 

--- Upon resuming at 11:42 a.m. 


MR. KAISER:  Please be seated.

Mr. Warren, did you have questions of this panel?

MR. WARREN:  I do, sir, very briefly.
Cross-examination by Mr. Warren:


MR. WARREN:  Panel, much against my years of professional training and my personal instincts, I want to try and get to an understanding of what's fair in all of this.

Let me start with some basic propositions.  Mr. Birmingham, as I understand your answer to Mr. Buonaguro earlier this morning, under a cost-of-service regime, the benefits of any corporate tax reductions that would be flowed through to ratepayers.  Have I got that correctly?

MR. BIRMINGHAM:  The forecast tax expense for the cost-of-service period would then be reflected in our application and our rate proposals.

MR. WARREN:  I will take that as a yes.  Thank you, Mr. Birmingham.

Now, Mr. Birmingham, a principle, a regulatory principle, was advanced by Mr. Thompson, and I would like you to respond to it.

Can you and I agree, Mr. Birmingham, that under an incentive regulation regime, one of, though not the only, regulatory principles is that ratepayers should be no worse off than they were under a cost-of-service regime?

MR. BIRMINGHAM:  I would say, in aggregate, I would agree with that principle.

MR. WARREN:  Does it follow from the two answers, then, Mr. Birmingham, that what we are all collectively engaged in, obviously with differing interests, but what we're collectively engaged in is finding a way to ensure that the $80 million in forecast corporate tax reductions finds its way into the hands of the ratepayers, and we're trying to find the mechanism by which to do that?  Is that a fair summary of what we're engaged in?

MR. BIRMINGHAM:  I think that's probably right, Mr. Warren, particularly when I think about it in the context of -- if these income tax changes were unique to Union and there were no macroeconomic impacts, then in that circumstance, that would be a pass-through.

So I think that is right.  We're trying to determine whether there is any, I guess, further need for an adjustment.  It is certainly our position there isn't.

MR. WARREN:  I understand that.  Now, if I could turn to the other two members of the panel, and at the vertiginous risk of plunging into macroeconomic theory, let me see if I can understand what you said over the last couple of days.

It would help if you would turn up one of your interrogatory responses to Mr. Shepherd's client, and it is Exhibit E3.3.8.

DR. WILSON:  E3. --

MR. WARREN:  E3.3.8.

DR. WILSON:  I've got it.

MR. WARREN:  In response to the question that was posed to you, you said:   
"Precise calculations of the reduction in aggregate prices from corporate tax reductions on a year-by-year basis are not feasible.  The adjustment of aggregate prices over the 2007 to 2012 period will include the lagged effects of tax reductions implemented before 2007.  Furthermore, the adjustment to tax reductions implemented after 2008 may not be fully realized by 2012."

Have I read it accurately?

DR. WILSON:  You have read it exactly the way it is.

MR. WARREN:  Now, am I right in understanding this, panel, that there will be an impact on the GDP deflator from the corporate tax changes in the period 2008 to 2012?  There will be an impact; correct?

DR. WILSON:  Correct.

MR. WARREN:  In addition, there will be an impact from the lagged effect of corporate tax changes in the period prior to that; correct?

DR. WILSON:  Correct, to the extent they weren't realized on prices in that previous period.

MR. WARREN:  Thirdly, you have posited that there will be an anticipatory and augmented effect in 2008-2012 from the fact that the proposed change or the changes had been pre-announced; correct?

DR. WILSON:  Correct.  And that was also the case in the previous period.  There was a pre-announcement under the five-year tax reduction plan.

MR. WARREN:  Is it the case, panel, that when we take those three factors that you have posited, put them together, is it the case that the effect on the GDP deflator, through the period ending in 2012, will result in an impact on the GDP -- on the formula under the IR that will ensure that ratepayers get the benefit of $80 million in tax reductions?  Is that your evidence?

DR. WILSON:  Well, again, we didn't look at these dollar values.  In our evidence, we were looking at percentage effects on the GDP deflator.

And as Professor Mintz had indicated, we do have an undertaking to work through the numbers in response to Mr. Shepherd's request of yesterday.

MR. WARREN:  Can we agree, Mr. Birmingham, to the extent that using those three factors result in a gap between $80 million and what the effect on the GDP deflator is, that on the principle of no harm to ratepayers, some other mechanism has to be found to compensate ratepayers?  Can we agree on that, Mr. Birmingham?

MR. BIRMINGHAM:  I think provided you are including all three of those impacts, I would agree.

MR. WARREN:  Those are my questions.  Thank you, panel.

MR. KAISER:  Thank you.  Mr. Gruenbauer, do you have anything?

MR. GRUENBAUER:  No, sir.  Thank you.

MR. KAISER:  Mr. Scully?

MR. SCULLY:  No, thank you.

MR. MILLAR:  Mr. Chair, I have just a couple of questions if there is nobody else.  I will be very brief.
Cross-examination by Mr. Millar:


MR. MILLAR:  Good morning, panel.  I just wanted to follow up on a couple of questions that -- I guess it was an exchange largely between Mr. Shepherd and Mr. Birmingham yesterday.

Do you have a copy of the transcript?  I am speaking of the discussion that starts around page 62 and carries on for a few pages.  Generally speaking, it was a discussion regarding Exhibit K3.2, which was one of the charts submitted by Mr. Shepherd.

The discussion that Mr. Shepherd had with both Dr. Mintz and Mr. Birmingham related to the extent to which there is a carryover effect on the inflation trends in the IR period.

Mr. Shepherd indicated, Well, you do a rebasing at the end of the IR plan, and doesn't that reset everything?  And there was a bit of discussion on that.

Do you recall that conversation?

MR. BIRMINGHAM:  We have the transcript.

MR. MILLAR:  Okay, thank you.  I am looking at page 64 now.  You will see, around line 22, Mr. Shepherd is asking a question of Dr. Mintz.  He says:   
"So your first point was that the next time around, the first year will be affected by this carryover from the last time; right?"

And Dr. Mintz says:  "The price deflator."

Mr. Shepherd I think disagrees with that.  If you look to the next page, line 3, he says:
"So, in fact, your argument turns on itself.  In fact, the last year we will be back to real numbers; isn't that true?"

And Dr. Mintz says, "No."

And Mr. Shepherd says, "Why not?"

Dr. Mintz says:  
"Not entirely, because there is still an inflation factor being used; right?"

There's a short dispute there.  Then, Mr. Birmingham, you interject.  You say:
"But in year six, Mr. Shepherd, we will be doing a forecast in rebasing on the cost of service, and those cost estimates will include inflationary impacts in our costs."

You and Mr. Shepherd discuss this for a moment.  He asks if you specifically used GDP IPI in your calculations, and you respond on page 66:
"It is simply saying there will be inflationary increases and inflationary impacts in our cost-of-service forecast."

That's a long set-up, I know, but my question is this:  I think, if I am not mistaken, Mr. Birmingham, what you were pointing out is that in any cost-of-service test year, whether it be at the end of an IR period or not, the company will take into account inflationary pressures for the purposes of its budgeting for the test year.  Is that what you were getting at?

MR. BIRMINGHAM:  That's correct, and particularly where something like the GDP IPI FDD is intended to be a proxy for how Union's costs would behave over a period, then you would expect that when you are taking into account inflationary increases when you are looking at a cost-of-service forecast, that that same type of inflationary impact would occur.

MR. MILLAR:  Now, in terms of when you're doing a cost-of-service application and you are looking at inflationary pressures, those inflationary pressures wouldn't apply to the entire revenue requirement, would they? For example, rate base wouldn't be impacted by inflationary pressures, or very little.


MR. BIRMINGHAM:  In fact, the inflationary increases on our capital costs are quite substantial right now.

As an example, the costs to drill storage wells, the cost to hire engineers who do those projects.  The costs for those are actually running ahead of inflation.

MR. MILLAR:  But in terms of rate base, those costs are already in the rates, right?  For the most part.  There may be -- When you're going from the bridge year to the test year, inflationary pressures wouldn't be very relevant for rate base; is that correct?

MR. BIRMINGHAM:  Sure they would.

MR. MILLAR:  Just one year's worth?

MR. BIRMINGHAM:  Well, it will be the impact on the individual projects, and then the calculation of the average and monthly averages for the purpose of the rate base determination.

MR. MILLAR:  Most of those are already closed to rate base, are they not?

MR. BIRMINGHAM:  I'm not sure I follow, Mr. Millar.  Let me try this again.

When I am looking year over year, so let's take, for example, our future rebasing hearing.  So I am going to be looking at, in your example, the year 2012 to 2013.

So what's going to happen in rate base?  Well, what's going to happen is we're going to take a look at the 2013 capital expenditures, and that might be, as an example, $400 million.  In that $400 million will be the inflationary increases that come from the costs of the components of those projects, so you will see that increase reflected in the cost of the capital projects and in the rate base determination.

MR. MILLAR:  Right.  I'm not saying there is no impact on rate base, but it just takes into account one year's worth; is that correct?

MR. BIRMINGHAM:  Well, in 2013 we're going to have a rate base calculation that includes all of the investments that we have made through the incentive regulation period, and our forecasts for 2013.

MR. MILLAR:  In terms of property taxes, for example, would that be impacted by inflationary pressures?

MR. BIRMINGHAM:  Typically, yes.  Because most of that is driven by assessments from municipal governments, and the municipal governments have a certain tax rate that they're going to assess on an annual basis.

A lot of the municipalities do try to keep their annual tax increases at around inflation, without getting their voters too upset.

MR. MILLAR:  Thank you, gentlemen.  Those are my questions.
Questions from the Board:


MR. KAISER:  Professor Wilson, I just have one question for you.

We have an $80 million cost reduction in this five-year period.  It has nothing to do with anything that Union did.  It is a windfall gain.

DR. WILSON:  Right.

MR. KAISER:  So we're trying to divvy it up between the company and the ratepayers.  Ratepayers say:  We're entitled to it.  That's what happened under cost of service.  Union comes forward and says:  No, no it is going into the deflator that is pushing down our prices by the 80 million.  We have already given you the 80 million, in effect.

Now yesterday I asked Mr. Birmingham, in year one, the 
8 million, would that already be in the deflator.  And he said "no".  He changed his mind a bit today, but let's suppose we stay with his answer yesterday, that in year one, it was zero percent.


It found its way into the deflator.  And year five it goes up to 100 percent.  Year five I think is 23 million.

Let's suppose it went evenly.  If that happened to be the case, given that these things are a matter of judgment, that would say 50 percent of this should go to the company, 50 percent to the ratepayers.  Do you think that is a bad solution, given the facts that we're arguing about?

DR. WILSON:  I don't think so, because in response to one of Mr. Shepherd's spreadsheets, we looked at the implied -- how much the GDP deflator would have had to be reduced in order to not need a Z-factor, on average for the five-year period.  And it was about, as I recall, slightly above a half-percent per year.  And just looking at the two tax changes that we incorporated, we didn't include any of the future changes, some of which are in that 80 million.  We were looking at about a 2.8 percent reduction in the GDP deflator when everything had worked out.

So if that were spread over five years, it would be also just over a half-percent a year.  So that would be saying -- leaving aside lag issues, both bringing forward lags from the past and how much of that 2.8 isn't realized by 2012 -- that would say we're in the right ballpark that the GDP deflator would be largely eliminating the need for a Z-factor.

Now, we're going to be redoing these calculations, taking into account additional tax changes that are going to occur over the incentive period.  So we'll have a better, you know, we'll be providing you with better numbers on that.

But as I say, I don't think 50/50, from my interpretation of what we've done so far, would be in the right ballpark.

MR. KAISER:  I'm not understanding, in the context of this issue, the relevance of the previous tax changes.

I understand that if you just are looking at lags, this is a continuous process and you're picking up some past tax changes.  And these tax changes, as you said in this interrogatory that you were just referred to, some of those won't even be captured by 2012.

But we're just trying to figure out what to do with this $80 million which is in this five-year period.  That's our job.

DR. WILSON:  Hmm-hmm.

MR. KAISER:  Who gets it?  And that really is just a question of, given your argument as to why it shouldn't go to ratepayers, when it gets into the deflator in this five-year period, this 80 million.  And it is surely not all in there on day one.  It's going to go up at some rate.

DR. WILSON:  Oh, no, not on day one.  But the 80 million, isn't that the cumulative effect over --

MR. KAISER:  It is.

DR. WILSON:  Yes.  So what I was talking about is just taking the five-year period as a whole, and in one of Mr. Shepherd's spreadsheets, he had calculated residually a Z-factor.  And I think the one where we ignored this problem of the first-year lag, it worked out to being about a half-percent per year.

To eliminate the Z-factor, the GDP deflator would have to have been impacted by about a half-percent per year.

And that's, if we take what we showed in our table 2 and the 2.8 percent impact, divide by five, we get about a little over a half-percent per year.

If we say some of that doesn't occur in the five-year period, then it wouldn't exhaust the 80 million, but on the other hand we're not taking account in that 2.8 percent any future tax changes, which, as I understand it, are in that 80 million, that they include some of the tax changes announced in the October statement.

So in the recalculation we'll be doing, we'll be taking those into account.

MR. KAISER:  Doesn't the 80 million, isn't that the tax reduction that the company expects to receive in this period?

DR. WILSON:  Yes.  That's based on data as of the end of the year, as I understand it.

MR. KAISER:  All right.

DR. WILSON:  That would include provincial as well as federal --

MR. KAISER:  All right.

DR. WILSON:  -- tax reductions.

MR. KAISER:  Let's assume that is right.  Let's take it as a fact there's going to be an 80 million dollar tax reduction in this five-year period.  No question about that.  The sole question now is:  When does it flow into the deflator?

We know it is not all in there, and I'm just talking about the 80 million.  We know that the 8 million, which is the year on reduction -- I asked Mr. Birmingham this yesterday and he said, no, it is certainly not all in year one.  And it can't be.

In year five, it can't be more than 100 percent.  So I would have thought it is obvious that there is no way that 100 percent of this $80 million tax reduction can be in the deflator in this five-year period.

DR. MINTZ:  But the calculation of the impact on the deflator is not based on what Union gets as a tax cut.  It's based on what the aggregate tax cut is for the whole economy, which shows up in the price level.

And if for a moment we assume there are no lags - which I would agree with you, Mr. Chairman, that there are lags, but you know just for a moment, if there are no lags - then what our calculations showed the potential price effect of those tax changes during the five-year period, is exactly the same for Union, actually, in terms of its cost reductions, as it is for the economy as a whole.

And granted, we should run through the numbers, you know, to show their impact on the revenue requirement, but leaving that aside, what we're saying is that there is the same, similar impact in that way, in terms of the cost reductions, but it would show up in the price deflator in terms of the aggregate economy.  We're not talking about Union.

Granted, there are lags; totally agree with that.  And some of the tax reductions, they come in the next -- in the coming five years are going to show up in the next -- are going to show up in the price deflator in the future, beyond five years, and not just in the current price deflator.

Similarly, some of the tax reductions that occurred in the 2000 to 2006 period didn't completely show up in that period, in terms of lower prices.  In fact, they're affecting the inflation factor in the current period.

It becomes a question of how you want to deal with those lags.  It is very complicated.  But certainly it wouldn't be fair, in a sense, at least in our view, to simply just say we're going to only take into account lags in terms of how it pushes the impact of the tax reductions beyond the 2012 period, without thinking about, Well, what about all of those past lags, too, that would have affected the price deflator today?

So it becomes, you know, a very complicated question.  So it does raise, you know, how you want to deal with that over time.

I think probably one of the things -- we will try to help with these number calculations and think a little bit more about these lags, as well, in terms of past and future ones, in terms of thinking about the overall impact on both the ratepayers, as well as for Union Gas.

MR. KAISER:  Thank you.

MS. CHAPLIN:  I would like some help understanding the shift between the cost-of-service regime and the incentive regime, and you've gone over a bunch of this ground, anyway, already, so I apologize if some of this is repetitive.

Under the cost of service, let's say the typical annual cost of service, as tax changes were either legislated or enacted, the lower tax costs would be passed through in the revenue requirement; that's correct?

MR. BIRMINGHAM:  The specific effect on Union Gas with respect to those taxes would be included in our cost-of-service application, that's correct.

MS. CHAPLIN:  Right.  Then to the extent that those tax reductions were of general application, that would have an impact on inflation generally and price levels.  And the subsequent effects, as I think -- as Mr. Millar took you to, yesterday you explained that those inflation effects would then feed into your subsequent years' forecasts of costs, wages, purchases, capital expenditures, and that sort of thing; is that correct?

MR. BIRMINGHAM:  That's correct.

MS. CHAPLIN:  So in my simplistic view - and this is where I'm looking for some help to understand where I might be wrong - there are sort of two effects.  There is that sort of first-year effect.  Union's cost of service goes down, because its taxes have gone down, and then there's the subsequent downward pressure, because the taxes have gone down for everybody, and, therefore, Union's underlying costs - their wages, purchases, capital expenditures - there is also downward pressure on those.  Is that --

MR. BIRMINGHAM:  Yes.

MS. CHAPLIN:  Okay.  So when we go to an IRM mechanism, what it appears to be is we're now saying, Well, that GDP deflator actually is going to capture both of those effects.  That's where I'm having trouble understanding how that works.

I don't know if that is a question for you, or for Professors Mintz and Wilson.

MR. BIRMINGHAM:  Let me give it a shot, because I think this whole issue of matching to individual periods is a confusing one.

If I take the example of our 2007 cost of service and 2008 incentive regulation mechanism, in 2007, we would look at the tax changes as we could forecast them at that time and the specific impact on Union Gas, and say, What are all of the impacts on our costs?  And that would go into our rate proposal.

But the impact of those changes, of course, that's based on our view of inflation and the -- as I was telling Mr. Millar, the impact on our costs from inflation, that includes the impact of some announced tax changes, but not all of them, because they're not all reflected in the inflation mechanism.

So let's assume that the change was announced in 2006.  It's going to have an impact in 2007, and we calculate that specific impact on Union Gas.  It also has an impact on 2008, because it's not fully realized in the year or immediately the year after, as the Chairman was pointing out.

So, now, that impact is coming through into the 2008 GDP and pushing down the GDP piece.

MS. CHAPLIN:  I'm sorry, I haven't quite got that, or that answer.  I'm having trouble understanding how it answers my question, which is, under the annual cost-of-service regime, you've got, in effect, two impacts.

You have the initial impact of reduced taxes payable, which reduces your revenue requirement, and then -- let's just say there was one year's tax reduction.  And in subsequent years' cost-of-service applications, you would be -- implicitly in your application will be the follow-on effects of the economy-wide impact of price reductions flowing from that tax reduction.

MR. BIRMINGHAM:  To the extent they were beyond one year, that's right.

MS. CHAPLIN:  Right.  Well, I mean, I think that is the evidence of Professors Mintz and Wilson, that even if you had one year's tax reduction, it flows through in the GDP price deflator going forward.

So what I don't understand is why, in an IRM, where you're relying on -- what you seem to only be relying on is that second factor, the downward pressure on the input prices through the GDP deflator.  And that first-order effect, which is probably a misnomer, but that first-order effect, which is the $80 million, which is Union's very direct reduction in its costs, I don't understand how that's -- I don't understand how -- in both cases you are using an inflation.

In the IRM world, we're saying it also captures the impact on -- the direct impact on Union, but in the cost-of-service world it didn't.

MR. BIRMINGHAM:  Whether this helps or not, Ms. Chaplin, I will give it a try.

I think the difference is in cost of service, we look at the specific impacts on Union.

So in your example, what will happen is in 2007 cost of service, we will look at the specific tax impacts on Union and the specific inflationary impacts on us.

So if there are large wage increases for engineers, we will be forecasting that in our cost of service.  If there are large wage increases for manufacturing employees but nobody else, we won't be forecasting that.  That won't affect our cost of service.

So it's the specific impacts on Union.  So that's in the cost-of-service piece.

Now we move to the IRM framework, and we're using the GDP IPI FDD as a measure of the cost pressures that are going to impact for all of our costs, including taxes, and I think that's the difference, is that we're taking the specific ones for Union in the cost of service and now we're using GDP IPI FDD as a measure or a proxy for the cost impacts on all of them.

MS. CHAPLIN:  Thank you.  That answer is helpful.  Thank you.

MR. SOMMERVILLE:  It occurs to me, Professors Mintz and Wilson, that one of the difficulties we have here is matching the theoretical thrust of your analysis and the specific regulatory regime that we have, which is an incentive regulation mechanism that is punctuated by cost-of-service rebasings.

The effect of prior tax changes - those are changes that are prior to the rebasing - are troubling me, to some extent.  I see that they are, if not pivotal, important for your analysis, that as you look forward into the five-year period between 2008 and 2012, part of your analysis is predicated on the implications of tax changes that occurred prior to the rebasing.

Have I got that right?

DR. WILSON:  Yes, the residual effect.

MR. SOMMERVILLE:  Right.

DR. WILSON:  If, say, three-quarters of the impact of those prior changes have already been realized, then when you do the rebasing, that's all taken into account.  But then there is what is left over.  There's the future downward pressure as the rest of those effects work through the general economy.

MR. SOMMERVILLE:  Those are a bit of a black box to us, because we've rebased -- the company has rebased its cost of service, in effect, at a given point in time.

I think there's a kind of merger of those.  There's a thought that there is a kind of merger of those effects when that rebasing occurs.

I take it that the work that you're doing with respect to the undertaking for Mr. Shepherd is, you are going to take some of those residual affects, as well as the specific tax changes that we're dealing with in bright lights here, and you're going to take all of those effects and run them through the five-year period, in effect, to see whether the $80 million is accounted for, to use an inelegant, non-theoretical language, but you're going to take that and see if it is accounted for through the five-year period.  Is that correct?

DR. MINTZ:  We haven't really talked about how we're going to do this yet --

MR. SOMMERVILLE:  Okay.

DR. MINTZ:  -- in terms of you know the actual calculations, but I would think that what might be appropriate to do is to start with the case in which you assume no lags.

MR. SOMMERVILLE:  Mm-hmm.

DR. MINTZ:  Because then that kind of gives you an idea about what the price reduction is, based on the tax reductions that are occurring over this five-year period.

Granted, that's not the right assumption, but it does at least give you kind of a base case, in terms of how it overall affects prices and how that will impact on the revenue requirement of Union.

Then, I would think -- because it is more complicated -- then I would think, Tom and I have -- Professor Wilson and I have not discussed this yet, but I would think it might be interesting then to sort of think more about this lag problem, because that's the complexity.  Because you have lags that mean that the tax reductions that occurred during the 2008 to 2012 period will have an impact on the price deflator in the future, beyond that period.  But then if that's the case, by symmetry, you have to think about the past tax reductions, and how that could impact on the current inflation rate.

Then see whether you're getting rough justice or not, or whatever.

MR. SOMMERVILLE:  If you could be very explicit about the assumptions and the inputs that you are using for that analysis, I think that will be extremely helpful to everybody in this room, in sort of understanding where we may have points of demarcation, or not, as the case might be.  Because I think one of the concerns that I have is that this analysis that you are going to do that is going to look at the $80 million running through this strange artefact of our regulatory construct, that in order to understand that properly, we need to understand this previous period implication, and the post period implications that you are building in.

We may need to extract them, in order to understand it within the context of our regulatory construct.  Do you see what I am driving at?

DR. MINTZ:  I think that makes a lot of sense.

MR. SOMMERVILLE:  Thank you.  The other question that I had, had to do with the behavioural aspect of all of this, which is kind of central, I think, to how these tax changes sound in the economy and when they sound in the economy.

Mr. Buonaguro indicated today, for example, and I think you agreed with him, that the initial implication may be an increase in prices, occasioned by more money available for capital spending and machinery and that sort of thing, that machinery manufacturers are not going to be lowering their prices in the face of increased cash available for that kind of purchase occasioned by the tax change.  That's one of the impacts that we would see.

Then you talk about the anticipatory aspects of this.  Is anticipatory behaviour the same as behaviour after the tax change has actually been implemented?  Is there any study in that sense?

I would presume that people are a little less forthright about their expenditures in anticipation of the change, as opposed to once the change has actually been enacted.

DR. WILSON:  Well, let me just take a first shot at that.  Basically, anything in the future, even though is it legislated -- of course Parliament could change that.

MR. SOMMERVILLE:  Right.

DR. WILSON:  So there is probably a little bit of, you know, you're less certain that is going to come.  Although I would say under the current context where most countries are cutting corporate taxes in the future, that they look more likely than they might have in the past.

But the other thing is that when you react in this anticipatory way, you look at whether or not there's an incentive to move the investment ahead, and in some of these -- when you have future corporate rate reductions, for example -- there is an incentive to move your investment ahead, because you get to take the capital cost deductions, and perhaps some other kinds of deductions in the period before the rates start coming down, or at least some of them.

And that pass work I referred to was an example of that.  It wasn't a CCA thing, but it was where they were phasing out an investment tax credit and that would then have a strong effect on the timing of investment.  When you're anticipating, it can have that effect on making you react stronger now than you would if you didn't have that, and you waited until suddenly the change was imposed on you.

MR. SOMMERVILLE:  The specific changes that we're talking about here, one of which is a CCA change and the other of which is a capital tax change, would either of those cause direct, irreversible action on the part of the industrial organizations in anticipation of the legislated change?

DR. WILSON:  One thing, in any of these changes, even if there isn't an incentive to do it today, to take advantage of like, the CCA, there is, if you say it's going to happen in the future, you will start your planning process in advance so that the reaction when the future rate change occurs will be stronger than if they get the future rate without the pre-announcement.

MR. SOMMERVILLE:  Is the CCA change that's being talked about, is that the kind of change that will cause industrial organizations to accelerate?

DR. MINTZ:  I would think, especially the two-year write-off for manufacturing, which is temporary, I think is a very good example, that people -- in effect, the complaint about the original budget proposal from last year was it was too short of a period for people to take advantage of it, but a lot of companies went to the department about that.

But adding on another three years, the whole intent was to allow people to make sure they undertake their expenditures that will qualify for that.

But that's actually a pretty fast reaction, because we're going to be talking about, within five years, taking advantage of that two-year write-off on the manufacturing and processing deductions.

MR. SOMMERVILLE:  The lag effect for that specific sector of the economy in those specific instances, you would anticipate that would be fairly short?

DR. MINTZ:  Exactly.

DR. WILSON:  Yes.

MR. SOMMERVILLE:  The other change that's being talked about would fall into that broader category where you can see different kinds of behaviour, for example, where they may purchase capital equipment, they may repurchase shares, they may -- treasury bills.  Mr. Thompson went through the list, and you helped him through the list of things that people may do.  Those are deeper-lag kinds of behaviour.

DR. MINTZ:  That's correct.  Although, there is another thing about just anticipated reductions in corporate tax rates.

Let me say, just from personal experience, that back in -- I twice worked at the Department of Finance in Ottawa, both going through the first corporate tax reform in the '85 to '87 period - I mean all through the planning for that major reform - and then later doing the technical committee work in the '96-'97 reform, or the 2000 reforms that followed from that report.

There is actually kind of a view within the department that if you stage corporate rate reductions, you will actually give an extra kick to current investment expenditures.  And that's because when a firm undertakes to invest in capital, and let's say it does it during the period when the corporate tax rates are still relatively high, then they can get a bigger tax savings from capital cost allowances.

And then the actual income, which is generated at a later time, will be taxed at a lower corporate rate, which actually is another way of saying is that you end up getting a lower effective tax rate on capital when you have these anticipated changes in corporate tax rates.

Actually, historically since 1987, at least -- that I can think of -- the Department of Finance, when it does cut corporate rates, they like to do it over a period.  They don't like to do it immediately.  I notice the provinces are pretty well following this strategy, too.

And I think part of it is to give the extra boost to investment, because from their own work, they anticipate that this is going to happen.  So it cuts the lags down further.

MR. SOMMERVILLE:  I think Mr. Birmingham alluded to the interrelationship between these two changes yesterday.  Anyway, those are my questions, thank you.

MR. WARREN:  Mr. Chairman, I wonder if I could just ask a follow-up clarification question based on Mr. Sommerville's questions?

MR. KAISER:  Go ahead.
Further cross-examination by Mr. Warren:


MR. WARREN:  Mr. Sommerville posited to you, panel, in your answer to interrogatory you are going to build in the previous lag, and then the lag after.

When I was cross-examining you, I asked you to build in three assumptions, and one is this giddy-up effect, which is the anticipatory tax -- anticipatory investment decisions based on the pre-announcement of the tax.

Will your response to the interrogatory include that factor, as well?

DR. WILSON:  That's a little trickier to do, but we could -- we could state some, you know, assumptions based on this past work.

I don't think it is feasible to do the kind of full model run with the current stuff.

DR. MINTZ:  Let me just confer for a minute.

MR. SOMMERVILLE:  Turn off your microphone if you want to.

[Witness panel confers]

DR. MINTZ:  The question is to properly do the anticipatory changes, in terms of how the impacts on the effective tax rate on capital, I think the only limitation I have would be -- or at least doing that, which we can do; I mean, I know how to work it through the formulas and everything -- but to do that, I am not sure the prescribed time -- and this is something I will have to find out I guess from the Board when you want this, but if you want this by next week, it is just not simply enough time to do that, that kind of calculation.

MR. WARREN:  I have to leave it in the Board's hands.

Let me explain what my concern is, that if we're trying to arrive at, my language, what the gap is, if there's a gap, that we need as much precision as we can.  And we can't rely on some soft factor out there to which we can't ascribe any -- to which we can't attach any numbers.

That is my fear about this.  If we can't precisely define what the anticipatory effect -- or if you can't, I'm sorry, then we have this imprecise number which -- imprecise factor, which doesn't allow us to come to, collectively, some understanding of whether or not there will be a gap.

So that's the difficulty.  I have to leave it in the Board's hands as to how that is handled.

DR. MINTZ:  Well, the one way to deal with that, potentially, is kind of what I would call a sensitivity calculation.

So, for example, when I said we could do an analysis where we assume absolutely no lags, that's a very extreme assumption.  Then we can do the analysis based on my colleague's estimates of lags in terms of non-residential machinery expenditure, which would be the opposite side.

The anticipatory case is going to put you somewhere in the middle.  Now, it's a question of whether you want the middle to be done, but we're going to need some time to do that one.
Further Questions from the Board:


MR. KAISER:  Can I ask one follow-up question on this. 


If we had had no tax reductions in the prior period, what difference would that make in your analysis as to whether the full amount of this -- none of this $80 million cost reduction should flow to the consumers?

DR. WILSON:  Then we wouldn't be bringing forward anything from the past.  We would then have to deal with the lag issue and the anticipatory issue.  And in that case, you probably would try to do three scenarios:  The one with no lags at all, as a reference point; and then get some handle on the lags; and then add to that the possible impacts of anticipatory effects.

MR. KAISER:  So just extrapolating on that, if you had a general theorem, which I am not necessarily saying you're postulating here, but it is getting close to it, that in an IRM regime, you should not take account of tax reductions, because they basically flow in a big loop and end up in the deflator and get taken into account in that way.  That requires that there be a constant state of tax reduction.

DR. MINTZ:  I think your point is important.

First of all, I think there's two aspects to it.  The first one is whether the tax changes that have occurred have been more or less beneficial to Union relative to the whole economy.  This goes back to my example.  If you have a tax reform which leads to no change in the aggregate effective tax rate, but let's say Union ends up getting a break, like a faster cost of capital allowance for some equipment that, let's say, only gas distributors would end up qualifying for, then it would seem to me the Z-factor adjustment would be quite appropriate.

So that's the first thing to understand.  I think that is what we were trying to deal with, in terms of our testimony.

When getting to the lags, again, I think you have to see what's happened in the past and the current to fully understand the impact on the price deflator.

I totally agree with you that if there was absolutely no change in effective tax rates between the year 2000 and 2006, then, really, if there are lags -- and you build in the lags, in terms of how it could impact on the price deflator, then probably there would be some Z-factor adjustment for Union, because the price change would not compensate or it would not offset the tax reductions that Union would get.  At least that would be the way I would approach it.

Of course, if you had really long lags where nothing happens over the next five-year periods, then you have an issue.

The complexity I think for the Board is that if you do assume there are lags and they don't get adjusted in the current incentive regulation period, then you have to ask the question:  What about the next incentive regulation period and the next incentive regulation period, where those lags will impact on the I-factor?  I'm not talking about the X-factor, but the I-factor.

And that's a question that I think, you know, one would have to deal with, which leads to, you know, some complexity about how you want to handle those lags.  But that's a -- that is an issue that I think has to be thought through.

[Board Panel confers]

MR. KAISER:  One of the things you may want to do, Mr. Penny, if you want, if you feel you need to talk with any of the intervenors over lunch to make sure we've got this outstanding undertaking nailed down --

MR. PENNY:  I was going to suggest, Mr. Chairman, that perhaps what we need to do is, in terms of this timing question and what's doable, in the -- it would seem to me the first step would be to discuss internally at Union and with the witnesses what sort of time frames we're talking about and what is doable, and if we think we can get there.  I mean, I am assuming that we need something by early next week in order to bring the evidentiary portion of this hearing to a close, perhaps middle of the week, latest, unless we were fairly confident that we could get something, you know, some Cadillac in a reasonable amount of time, but I think we need to get a handle on that first before we go to the next step.

So perhaps I could try and advise you later today, if possible, where we think we are on that.

MR. SOMMERVILLE:  Sorry, the only observation I have about that is that, in clarifying what the undertaking -- sort of some of the assumptions within the undertaking, that may have some implications for your timing question.  And it may be worthwhile to ensure that there is a clear understanding about -- it sounds to me like it is sort of evolving to maybe three options within this undertaking, one that presumes no spillover from previous period, one that incorporates the anticipated lag from previous tax changes, and one that talks about tax changes going forward, as well.

That's a very rough assessment, but my only observation is, before you make a determination about what may be deliverable when, you may want to know what those parameters are.

MR. PENNY:  As I understood -- as I understood it, Mr. Sommerville, the main supplement to the original undertaking that was given was a result from Mr. Warren, and then the Board's questions, which involved trying to show explicitly the effect of the anticipatory phenomenon, the effect of the spillover from the historic period, and if you will, the current lags that result.  If we just start at January 1, 2008 and a tax reduction that takes place then, one that takes place -- and what the implications of that were.

As I understood, there were those three factors and we were going to try to identify those separately, if you will, so that one would be able to see what the impact of each of those streams was.

MR. SOMMERVILLE:  I think that is right too.  That seems to me to be an accurate reflection of what is happening.  I don't know what others --

MR. SHEPHERD:  I agree.  I think that disaggregation of the impacts is really important for the Board to understand.  The one thing I would add is, on the timeframe that my friend is talking about -- I understand this is not a trivial task -- but on that timeframe, then, you wouldn't have the benefit of any of the other experts looking at those results.  And we wouldn't have the opportunity to respond.

I don't know whether this is an answer to that, but I think it obviously has to be raised.

MR. KAISER:  Well, I guess we will have to deal with that as it unfolds.  We will have the material.  We will find out, number 1, when the material can be made available.  Then you will have a chance to look at it.  If we have to deal with further responses, we can consider those requests.

Any re-exam?

MR. PENNY:  Yes, thank you, Mr. Chairman.  I think I just have two areas, probably both for Mr. Birmingham.
Re-examination by Mr. Penny:


MR. PENNY:  Mr. Birmingham, with respect to the cross-examination of Mr. Thompson, I had a sense of, perhaps ships passing in the night on some of the questions and answers about the numbers.

So if you would look at Exhibit 3.1.1, which Mr. Thompson asked you about.

I am focussing on the base rate adjustment issue that Mr. Thompson cross-examined on.  If you were to modify this schedule, in which we were not asked to identify 2007 changes, but only 2008 and subsequent changes - that was the question, so that's why the 2007 isn't in here - but if you were to modify this by adding the known tax changes that were implemented in 2007, what would it look like?  Or what change would be made?

MR. BIRMINGHAM:  Okay.  I thought I answered that question, but let me give it another try.

Maybe the simplest way to explain it is:  You would add a column for 2007 to the chart, Exhibit E3.1.1.  And under the column of 2007, at line 20, you would put a million dollars, which is the CCA rate impact that is found on Exhibit E3.1.4.

Then further down that column, on line 30, you would put "zero" because there were no unforecasted variances in the income tax rate changes for 2007.

Then finally, further down in that column, at line 38, you would add 1.8 million, which is the capital tax rate impact, also from Exhibit E3.1.4.

So that would be the total of 2.8 million for 2007.  And that would impact each year beyond 2007.  So the cumulative impact that shows now at 80.51 million would be increased by 14 million --

MR. PENNY:  So --

MR. BIRMINGHAM:  -- as a result of adding that 2.8.

MR. PENNY:  The cumulative effect of just the million and the 1.8 over the five years is how much?

MR. BIRMINGHAM:  It is 2.8 million for one year and 14 million in its entirety.

MR. PENNY:  All right.  Thank you.  Then the final question on that, Mr. Birmingham is, if the --

MR. THOMPSON:  Sorry, what was the last number you said?  Fourteen?

MR. BIRMINGHAM:  2.8 million by five years.

MR. THOMPSON:  That I understood.

MR. PENNY:  And sorry, Mr. Birmingham, is the future effect of the one million and the 1.8 million that we would add to 2007, is that already captured in the numbers that are on this exhibit?  Or not?

MR. BIRMINGHAM:  It is not.

MR. PENNY:  And then my final question on this, Mr. Birmingham, is that if the Board decided that only a base rate adjustment for those known tax changes in 2007 was warranted - in other words, they otherwise agreed with Union that future tax changes will be captured in the GDP deflator - what would be the amount of the base rate adjustment that would be warranted?

MR. BIRMINGHAM:  Well, first of all, I don't agree that there should be a base rate adjustment.  This is an unforecast variance, and we don't make adjustments to our base rates for any of the other elements of our cost of service for unforecasted variances.

But if the Board was to make an adjustment, it would be for the total of $2.8 million.

MR. PENNY:  Thank you.  Then arising from some questions we just had about the relationship between forecasts under cost of service and the influence of inflation under incentive regulation, I just had, I think, three questions.

Your forecast cost of service in a cost-of-service hearing, as I understand it, includes your best estimate of all costs and revenues in the test period that you think you will actually experience.

MR. BIRMINGHAM:  That's correct.

MR. PENNY:  You do not, in that forecast, restrict your forecast just to the effects of inflation?

MR. BIRMINGHAM:  No.

MR. PENNY:  Under incentive regulation, you are living within the rate derived from the inflation factor and the productivity dividend alone, regardless of what costs and revenue pressures you actually think you are going to experience?

MR. BIRMINGHAM:  That's correct.

MR. PENNY:  All right.  Thank you.  Those are all of my questions.

MR. KAISER:  Thank you.  All right.  We will come back in an hour for the next witness.  Thank you, gentlemen.

--- Luncheon recess taken at 12:40 p.m. 

--- Upon resuming at 1:50 p.m.

MR. KAISER:  Please be seated.

Mr. Warren.

MR. WARREN:  Thank you.  Thank you, Mr. Chairman, members of the Panel.  Could I ask that Dr. Loube be sworn, please?
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MR. WARREN:  Members of the Panel, Dr. Loube is testifying today on behalf of my client, the Consumers Council of Canada, on behalf of the Vulnerable Energy Consumers Coalition, and on behalf of the City of Kitchener.

You should have had -- there was attached to one of the interrogatory responses Dr. Loube's curriculum vitae.  Actually, it came as a separate part of the interrogatory response.

Dr. Loube, your present occupation is you're the vice president of Rolka Loube and Saltzer Associates; is that correct?

DR. LOUBE:  That's correct.

MR. WARREN:  You hold an undergraduate degree in economics from the University of Maryland, College Park; is that correct?

DR. LOUBE:  That is correct.

MR. MACINTOSH:  A masters degree in economics from the University of Massachusetts, Amherst; is that correct?

DR. LOUBE:  That is correct.

MR. WARREN:  A doctoral degree from the University of -- sorry, Michigan State University; is that correct?

DR. LOUBE:  That's correct.

MR. WARREN:  From the time of your graduation in 19 -- sorry, at the time of the awarding of your doctoral degree in 1983 to the present time, have you been continuously employed, albeit in a number of different capacities, in the field of regulatory economics?

DR. LOUBE:  That's correct.

MR. WARREN:  If I could take you, briefly, to your CV.  After teaching at James Madison University for two years, you began, first, as an econometrician with the Indiana Utility Regulatory Commission; is that correct?

DR. LOUBE:  I was first a principal economist, and then an econometrician at that agency.

MR. WARREN:  You have served in various capacities with the Public Service Commission of the District of Columbia?

DR. LOUBE:  That's correct.

MR. WARREN:  And following that, with the Federal Communications Commission; is that correct?

DR. LOUBE:  That's correct.

MR. WARREN:  And, finally, to your present position as a consultant; is that correct?

DR. LOUBE:  That is correct.

MR. WARREN:  During the course of your career in various capacities, have you had occasion, first, to participate in, directly or indirectly, regulatory proceedings considering, among other things, rate-of-return regulation and incentive regulation?

DR. LOUBE:  That's correct, yes.

MR. LATREILLE:  Looking briefly at your CV, can you point to specific examples where you have had occasion to participate in one capacity or another in price cap proceedings?

DR. LOUBE:  In price cap proceedings, I participated in -- there was a D.C. -- as director of the office of economics in the D.C. Public Service Commission, I supervised the filing of testimony in a price cap case in front of the D.C. Public Service Commission.

Also, as an employee of the D.C. Public Service Commission, I drafted comments that the D.C. Public Service Commission filed with the FCC in the FCC price cap proceedings.  Those are the main two that are directly related to price caps.


There were also alternative form of regulation that were not exactly price caps for a variety of other states that I worked for.

MR. WARREN:  Have you, during the course of your career, had occasion to do lectures on -- give lectures on and prepare papers on various aspects of regulatory economics and issues related thereto?

DR. LOUBE:  Yes, I have published twice on price cap regulations, once in the Land Economics Journal and once in an NNRI publication.  I have given lectures on alternative forms of regulations at various places.

MR. WARREN:  Thank you.

Mr. Chairman and members of the Panel, I ask that Dr. Loube be accepted as an expert in regulatory economics.  For my friend Mr. Penny's benefit, he is not being tendered as an expert and claims no expertise in Canadian tax law.

MR. KAISER:  Any objection, Mr. Penny?

MR. PENNY:  Mr. Chairman, I don't have any objection to what Mr. Warren has asked of you specifically, but I do in that regard reserve my rights as to the scope of his testimony, although -- in terms of whether it falls within his field or not, particularly given what Mr. Warren just said.

So it is not an issue -- we're not in a court of law.  We're not bound by the rules of evidence.  I am not objecting to you hearing what he has to say, but I reserve my rights with respect to his expertise to comment on issues that are -- may be of relevance.  I will deal with that in my cross-examination, then, and we'll deal with it ultimately in argument.


MR. KAISER:  Is that satisfactory, Mr. Warren?

MR. WARREN:  Yes, I understand that.

First, Dr. Loube, by way of a preliminary, you are responsible for -- you filed certain prefiled evidence in this proceeding, which has been marked as Exhibit E2.2.  Are you the author of and do you adopt that prefiled evidence?

DR. LOUBE:  Yes, I do.

MR. WARREN:  In addition to that, Dr. Loube, you have filed - it was filed over your name - interrogatory responses to interrogatories proposed by Union Gas and by Mr. Aiken's client.  Do you adopt -- did you prepare those interrogatory responses and do you adopt them?

DR. LOUBE:  Yes, I prepared them and I adopt them.

MR. WARREN:  I have only three very brief areas of examination-in-chief, Dr. Loube.

First of all, as a general proposition, Dr. Loube, how, in your view, should corporate tax changes of general application be treated in an incentive regulation regime?

DR. LOUBE:  If they are general and we agree that they are general, then they do affect the inflator -- the deflator and are passed through there.

MR. WARREN:  Should -- in your view, based on the evidence you have read in this case, should that general rule apply in this case; if so, why or why not?

DR. LOUBE:  Well, no, I don't think that general rule applies in this case, specifically because we have to look at the specific context of the gas utility as it operates in Canada.

We have to look at the lag process and the lag adjustment process associated with this tax, how it affects the deflators.

We have to understand that what's significantly different in Canada from the United States is that Canada is a small, open economy, and most of the people who comment on this issue in US proceedings recognize that the United States is a very large economy compared to the rest of the world, and that the United States generally is analyzed as a more closed economy than the Canadian economy.

MR. WARREN:  The final area I wanted to cover, Dr. Loube, we have had evidence-in-chief interrogatory responses, and then most recently reply evidence, from Drs. Mintz and Wilson.

Could you, briefly, indicate for the Board where you disagree with Drs. Mintz and Wilson?

DR. LOUBE:  Yes.  I would like to do that by turning to their table 2 that's on page 6 of 13 of their testimony.

MR. WARREN:  Is this the reply evidence?

DR. LOUBE:  The reply evidence.  I think that is their clearest statement of where they are going.

MR. WARREN:  Mr. Chairman, for the record, that is Exhibit E1, tab 2, at page 6 of 13.

DR. LOUBE:  Okay.  This table has two sections.  The top section is all large corporations.  The bottom section is Union Gas.

It shows sort of a summary number of minus 2.8 percent for all large corporations, and a summary number for Union Gas of minus 2.9, okay.

What are those numbers?  The top, the all large corporation number, reflects the percentage change in the deflator that they expect to occur for the two years, 2006/2007 and 2007/2008.  It is without any lag analysis in it.  They realize that and they realize that there could be a lag analysis on top of what they've presented, but, for the time being, it's a number without a lag in it.

How did they get their number?  Well, they started out with the tax changes that are on capital, labour, and taxes, and those numbers, it's my understanding that Dr. Mintz developed these using his marginal effective tax rate analysis.  As I agreed with Mr. Warren, I am not an expert on Canadian tax law.  I accept those numbers, okay?  The first two numbers in that column.

The third number, taxes on cost of business, I'm sure if I am wrong here, Dr. Mintz will correct me, but I believe that is a weighted average of the first two numbers, where the weights being the percent of capital and the percent of labour that are in the industry.

So that's where the immediate tax reduction will occur on all large corporations.

The next line is the cumulative change and it looks like it is just a sum; 3.1 is a sum of 2.1 and 1.  But I thought he might want to do it with a cumulative adder on it, but I don't know the underlying spreadsheet, so I am just going to say it's some kind of sum of the first two columns.

Then what happens, the next time, is that the next row down, the impact on the GDP deflator, he's saying corporate Canada is 70 percent of the Canadian economy, so he multiplies the numbers on tax on cost of business by 0.7, and thus he gets the next row down, the 1.5 and the 0.7.

Now, the question is -- and I will get back to this as I go through it -- is that really a price decline or is that just 0.7 times the tax problem?  The tax reduction?  But at this point I am just reviewing what I believe is their opinion and, thus, he's saying if you've got a 1.5 reduction and a 0.7 reduction on the effective tax rate, you will get a 1.5 and a 0.7 reduction in the prices.

Then he adds the impact of the GST tax reduction, and he shows a net impact on the deflator and then the cumulative change is minus 2.8.  That's the first number.

The next set of numbers on Union Gas is one of the -- well, the tax on capital, okay, that's the impact of the tax on capital on Union Gas.

Then there's a labour tax that I am not familiar with, but I accept that Dr. Mintz has the number right.

Then the next row down, tax on purchased materials and services, that's secondary impact that we were talking -- the question came up about this morning, you know, what happens -- you know, the tax -- reduce the large corporation taxes, and then it had an impact on everybody else, and doesn't Union Gas buy things from everybody else?  And yes they do, they buy materials.  I notice 1.5 and 0.7 exactly match in the upper bracket the impact on GDP inflator.  So it's the exact same numbers.

Then he does a weighted average and he shows you what the weights are:  58 percent on capital, 25 percent on labour and 17 percent on materials.  I am assuming what he does is he takes the 58 percent and multiplies that by the tax of capital row.  He takes the 25 percent and multiplies that by the tax on labour row.  And the 17 percent, he says that's the tax on purchased material row, and that's where he gets his final two rows of 1.5 and 1.4.  Then he shows the sum of 1.5 and 1.4 is a cumulative 2.9.

Now, what does that mean?

That 2.9 is what would have happened as a percentage impact on Union Gas if you had stayed with rate-of-return regulation.  Okay?  And passed all of the taxes through.

So what essentially Dr. Mintz and Dr. Wilson are saying is:  Look, Union Gas, if we had been under rate-of-return regulation, would have gotten a minus 2.9 reduction.  The GDP deflator is going down by 2.8.  Those are approximately the same numbers.  And given all of the items that we have to deal with and all of the best estimates we have to make, look, these two numbers are approximately the same and, therefore, there's no need for a Z-factor, because the reduction would occur.  Okay?

Now, how do I disagree with that argument?  First, I'm going to go through and show where I disagree in one instance, and then, you know, instantaneously without a lag, and then talk about the lag.

Let's start with the instantaneous, which is what this particular chart has to deal with.

How does the tax reduction impact prices?  Well, it increases the return on capital and that provides an incentive to have an investment, and then the incentives to have an investment increases supply and reduces the price.  That's what Dr. Mintz said this morning, and what he said in his responses.

The problem is, okay, let's think of it in terms of a small open economy and a very large economy, and let's compare the two, okay?

Let's say that, you know, in the world, there's a 10 percent return on investments.  Well, and then there is a 10 percent return in Canada and also a 10 percent return in the United States.

Now, we know that that's an abstract because there's a lot of different little risks.  There's things like you wouldn't want to go into the subprime market in the United States today.  You have a variety of issues here.  But essentially, investors supposedly move around their money so that they can get the best returns.  So if there's a higher return in one place, people will move their money into that place, reduce that return, and calibrate the returns in all three economies.

Okay.  So let's say that the United States had this tax reduction.  And it -- return went from 10 percent up to 15 percent because the United States is the big elephant in the world economy.  Okay, as people move their money around and readjust, you will get a reduction from, say, 15 percent to 12 percent in the United States, and the whole world would come up to about 12 percent and that would be that.

But when you get to the proposition of Canada, Canada being a small economy, what happens is there won't be much of an increase in the world rate-of-return, so that the total rate-of-return stays approximately the same at approximately 10 percent.  That means that people have to invest in Canada, such that more and more investments occur, so that the average return in Canada goes down to 10 percent.  All that we agree on.

The next step is where we disagree, and that is:  He claims that the additional investment will decrease the prices in Canada.

The problem is small open economy.  In a small open economy, what you have is that -- say the price of automobiles.  Automobiles is a major item produced in Canada.  It is also produced throughout the world.  It's a tradable item.

This is what is specifically different about gas services are non-tradable items.  With the tradable item, the price is not determined by the activities in Canada so much as the world economy.  And therefore, for the large corporations that operate in a tradable economy, the impact of the reduction in taxes, which increases the rate-of-return, which increases supply, is not going to have a one-to-one reaction for reduction in price.  And that's where we disagree.

His numbers, when you reduced the rate, the tax rate, you got a one-to-one reduction in prices.  This is the instantaneous change, okay?

Now, I'm saying:  Well, wait a second.  When you have tradable commodities, that commodity price is determined in a world economy, and Canadian activity will not have a one-to-one reduction in that price.  So that's the first major difference.

The second major difference is the extent of how the lag occurs.

Now, I don't have a focus model.  I don't have a major econometric model.  What I did to try to understand the lag situation that is out there, is that I tried and I went to the economic report of the president, which is generated by the Council Of Economic Advisors in the US government.  And I found that they did a recent analysis that said that at the end of five years, 75 percent of the taxes would be still remain on capital and 25 would move forward.  So I thought that that would be a reasonable place.  


These are main-line economists, in the middle of the road of our profession.  They work for a very conservative president.  They did this analysis and this was their conclusion.  I thought that that would be a reasonable way of looking at things and that was my starting point, and that's where my 75 percent number came from.


So I have a lag that I borrowed from the Economic Report of the President.  That's one difference.  And the other difference is the fact that in a small, open economy, tradable goods are not completely controlled by the tax rate changes of Canada.


MR. WARREN:  Those are my questions in chief.


MR. KAISER:  Thank you.  Mr. Penny.


MR. PENNY:  Yes, Mr. Chairman.  Being adverse in interest to Mr. Loube, I would prefer if anyone else who has questions go first and I go last.


MR. KAISER:  Anything, Mr. Thompson?


MR. THOMPSON:  No, sir.


MR. KAISER:  Looks like you're up.

Cross-examination by Mr. Penny:


MR. PENNY:  That's excellent.  Thank you.


Mr. Loube, I am going to be referring, so you have these things near to hand, to your report, which I assume you have, to your CV, to your interrogatory answers and to the packet of material that I gave you earlier.


DR. LOUBE:  Okay.


MR. PENNY:  The packet of material, does the Board have copies of this?


MR. MILLAR:  We will give that an exhibit number, K4.5.  That is Union's materials for Dr. Loube.

EXHIBIT no. K4.5:  CROSS-EXAMINATION MATERIALS OF UNION.


MR. PENNY:  Mr. Chairman, just so you are and parties are aware, these are, with one exception, materials that are cited in Mr. Loube's report.  The one exception, which sort of falls outside the material that's already in this case, was some evidence that Mr. Warren filed on behalf of CCC in the PBR case, but I gave that to Mr. Warren the other day.  So Mr. Loube has had notice of that.


MR. WARREN:  That's the document yellowed with age and...


MR. PENNY:  To start, would you turn up your answer to Interrogatory No. 3, please.


DR. LOUBE:  Your three?


MR. PENNY:  No, your three.  Sorry, our question; your answer.  I'm talking about your answers.  So my copy doesn't have an exhibit number on it, but do you have that?


DR. LOUBE:  Is this the one, "Please identify all research"?


MR. PENNY:  Yes, hmm-hmm.


DR. LOUBE:  Okay.


MR. PENNY:  You were asked there to identify all research, the conduct of which you had primary responsibility in relation to certain topics that were listed in question 1.  And those primarily dealt with the macroeconomic effects of changes in the Canadian and US tax policy.


Your answer is that while you were employed in the office of the director of the Bureau of Economic Analysis for three years and that was the agency responsible for publishing the national income statistics, that you did studies for the director with regard to the measure of gross domestic product and its related price indices; is that right?


DR. LOUBE:  That's correct.


MR. PENNY:  You say that you were worked there for three years.  I couldn't identify in your CV the employment in the office of the director for the Bureau of Economic Analysis.  It must be described differently, and I, therefore, wasn't able to figure out which three years you were talking about.  I wonder if you could identify, please, in your CV which --


DR. LOUBE:  Okay.  Go to page 8.


MR. PENNY:  Yes.


DR. LOUBE:  The bottom.


MR. PENNY:  Page 8 of your CV?


DR. LOUBE:  Yes.


MR. PENNY:  That's on page -- my page 8 is a list of publications.


DR. LOUBE:  Oh.


MR. WARREN:  Perhaps Dr. Loube will just refer to the text he is referring to.  It is -- you obviously a different pagination.


MR. PENNY:  Can we take a moment to sort that out, please?


MR. WARREN:  Sorry.


MR. PENNY:  Sorry, Mr. Chairman.  


MS. CHAPLIN:  Is it on page 8, it says under "Other", economist in the office of the director?


DR. LOUBE:  Yes.


MS. CHAPLIN:  It is right above publications.


MR. PENNY:  Oh, I see.


MS. CHAPLIN:  It's underlined and it says "Other".


MR. PENNY:  Sorry, I understand.  Thank you, Ms. Chaplin.  We do have the same page.  We're all fine.  I was looking in the wrong place.


MR. WARREN:  Let us know whenever you need any help, Mr. Penny.


MR. PENNY:  I was looking in your list of employment.


All right, thank you for that.


DR. LOUBE:  You're welcome.


MR. PENNY:  So you're the -- the studies that you were talking about were in the period 1972 to 1975?


DR. LOUBE:  When I worked for the office of the director, yes.


MR. PENNY:  And that's when you're saying you did these studies on the US gross domestic product?


DR. LOUBE:  Yes.


MR. PENNY:  All right.  Those special studies did not involve the measure of Canadian GDP?


DR. LOUBE:  No.


MR. PENNY:  And they didn't relate to price indices relating to the Canadian GDP?


DR. LOUBE:  Not to the Canadian, no.


MR. PENNY:  And they didn't relate to the macroeconomic impacts of changes to business tax policy in the United States?


DR. LOUBE:  No, they did not.


MR. PENNY:  And then in your answer to Interrogatory No. 4, you listed your teaching experience.  I just want to be clear that you taught undergraduate courses as an instructor from 1979 to 1983; is that right?


DR. LOUBE:  That is correct.


MR. PENNY:  And then as an assistant professor from 1983 to 1985; is that correct?


DR. LOUBE:  That's correct.


MR. PENNY:  And those were not tenured positions?


DR. LOUBE:  No, I was not tenured.


MR. PENNY:  You taught no graduate level courses in either of -- in any of these subjects?


DR. LOUBE:  The graduate level course I taught was an economic analysis course, which is essentially a microeconomics course.


MR. PENNY:  Right.  And you taught no courses at all on the macroeconomic effects of Canadian business tax policy?


DR. LOUBE:  No.


MR. PENNY:  Nor on Canadian national income determination or price indices?


DR. LOUBE:  No.


MR. PENNY:  You have not held a full-time teaching position at a post-secondary educational institution since 1985?


DR. LOUBE:  That is correct.


MR. PENNY:  Then looking at your CV, as Mr. Warren elicited, your current position is with Rolka Loube and Saltzer Associates?


DR. LOUBE:  That's correct.


MR. PENNY:  I noticed that your home and office address were the same in your CV.  So you work out of a home office?


DR. LOUBE:  Yes.  I'm the Washington office of the business.


MR. PENNY:  You're it?


DR. LOUBE:  I'm it, and it is my basement.


MR. PENNY:  All right.  You say, in connection with your current position, that your responsibilities included filing testimony on behalf of the New Hampshire Office of the Consumer Advocate?


DR. LOUBE:  Yes.


MR. PENNY:  And testifying on behalf of the main Office of the Consumer Advocate?


DR. LOUBE:  That's correct.


MR. PENNY:  And so in your role at Rolka Loube and Saltzer since 2007, your business has been testifying for consumer advocates?


DR. LOUBE:  Those are filed and -- yes, and I have very few private clients.  One of my private clients I am preparing testimony for are a bunch of -- a group of nine Michigan what's known as CLEX, or competitive local exchange companies.  But that's my private client.  I don't work for incumbent telephone companies or major electric or gas companies.


MR. PENNY:  But your principal focus since April 2007, as listed here, has been testifying on behalf of consumer advocates?


DR. LOUBE:  That's correct.


MR. PENNY:  Then looking at your CV before 2007, you were the director of economic research at Rhoads & Sinon?


DR. LOUBE:  Sinon.  


MR. PENNY:  Sinon.


DR. LOUBE:  Yes.


MR. PENNY:  That's a consulting firm?


DR. LOUBE:  That's the consulting firm that Rolka Loube and Saltzer bought in April of 2007.


MR. PENNY:  All right.


DR. LOUBE:  Okay.


MR. PENNY:  And looking at your list of responsibilities there, item 1, I see you testified on behalf of the Washington Public Council?


DR. LOUBE:  Right.


MR. PENNY:  That's a consumer advocacy role?


DR. LOUBE:  That's the Attorney General.


MR. PENNY:  The Attorney General.  And your second entry is you testified rebuttal evidence on behalf of the Pennsylvania Office of Consumer Advocate?


DR. LOUBE:  That's correct.


MR. PENNY:  Then in your third entry, you testified on behalf of the Attorney General in an AT&T case.  That was -- I take it your testimony in that matter was directed to keeping rates as low for the consumer as possible?


DR. LOUBE:  Reasonably low.

MR. PENNY:  Yes.  Well, fair enough.

DR. LOUBE:  Yes.  I don't ever ask for a company to not earn a profit.

MR. PENNY:  All right.  But the thrust of your testimony was, again, consumer advocacy?

DR. LOUBE:  My clients are, for the most part, either public advocates, attorney generals or other government agencies.

MR. PENNY:  Well you are anticipating, I guess my question, because I was going to say, without going through the list, is it fair to say that your principal business since 2001 has been testifying on behalf of consumer advocates in various rate proceedings?

DR. LOUBE:  Yes.

MR. PENNY:  Then before Rhoades and Sinon, you were an economist at the Federal Communications Commission?

DR. LOUBE:  That's correct.

MR. PENNY:  And your work there was an industry economist with respect to the telecommunications industry?

DR. LOUBE:  Correct.

MR. PENNY:  If you would look at your answer to Union's Interrogatory 5, please.

DR. LOUBE:  Mm-hmm.

MR. PENNY:  You were asked there to provide a list of all of the testimony you had prepared, in which you had been accepted as an expert in connection with that list on -- that was in question 1, which, again, was principally directed at the relationship between business tax and macroeconomic affects.  But there was, on the list, some entries relating to competition, the effects of competition on prices.  And you have here said that you testified on the impact of competition on prices, right?

DR. LOUBE:  That's correct.

MR. PENNY:  But you have not testified on the relationship between business tax policy and the economic impact of business tax policy?

DR. LOUBE:  That's correct, mainly because all of those cases that I was in, there was not a corporate tax change to testify on.

MR. PENNY:  Well, whatever the reason, you have never given testimony on that topic.

DR. LOUBE:  Right.  But I am telling you why.

MR. PENNY:  And your counsel indicated that you weren't claiming expertise in the Canadian tax law, but I have a slightly different question.  You have no expertise in Canadian business tax policy?

DR. LOUBE:  That is correct, from the point of view that I have not studied the changes in Canadian taxes in and all of the policies related to them.

As I stated in my opening remarks, I accepted Dr. Mintz's evaluations of the marginal effective tax rate.

MR. PENNY:  And you claim no expertise in the macroeconomic impacts in Canada of business tax policy?

DR. LOUBE:  No.  I taught about the US economy.

MR. PENNY:  You have already told me that you have not studied or given evidence on the relationship between US business tax policy and the macroeconomic effects of that policy in the United States?

DR. LOUBE:  No.

MR. PENNY:  Correct?  

And then in Interrogatory No. 6, you were asked what research or studies you had been before January 1, 2008, on macroeconomic lead or lag effects in the implementation of business tax policy, in Canada or in any other country.  And you say that you reviewed the literature on tax policy in regard to your responsibilities to provide draft comments for the Public Service Commission, and that those comments were filed with the FCC, regarding the FCC's adoption of price cap regulation.  Correct?

DR. LOUBE:  That is correct, yes.

MR. PENNY:  And that must have been, in any event, according to your CV, before May 1996, because that's when you left the Public Service Commission.

DR. LOUBE:  That's correct.  It was about the implementation of the price cap regulation by the FCC.  So it's the major cases that the FCC, Federal Communications Commission of the United States of America, did in 1990 and 1991.

MR. PENNY:  Right.  You say you reviewed the literature and you provided comments, but I take it you did not present evidence in that case?

DR. LOUBE:  That was a paper proceeding.  No one provided evidence.

MR. PENNY:  That means you didn't provide evidence?

DR. LOUBE:  That's correct.

MR. PENNY:  All right.  Then if you would look at your report, or your evidence, just on this issue of the FCC, you cite in footnote 2 as examples, regulatory examples of tax changes being adopted as Z-factors, a series of cases.

I am going to ask you about a few of those, but while we're on this subject of the FCC, you cite as one of those examples -- I just want to make sure I get the right one here -- oh, here it is.  In the matter of policy and rules concerning rates for dominant carriers, CC docket number -- and then it has got, one of those docket numbers is FCC 90-314.  Do you see that?

DR. LOUBE:  Yes.

MR. PENNY:  Is that the case that you told me a moment ago that you reviewed the literature in respect of, and provided comment on?

DR. LOUBE:  Yes.

MR. PENNY:  All right.  And that, if you have the bundle of material, that case at page 3 of that bundle, I have got an excerpt from that decision.  Do you see that?

DR. LOUBE:  Mm-hmm.

MR. PENNY:  That is the decision that we were just talking about?  FCC 90-314?

DR. LOUBE:  Yes, I believe so.

MR. PENNY:  You will see under the heading "Tax law Changes" it says:
"We find that tax law changes are presumptively endogenous, despite the arguments of a number of the LECs, that the GNP-PI will not reflect the costs of tax law changes."
Do you see that?

DR. LOUBE:  Mm-hmm.

MR. PENNY:  Now as I understand it, in this case, the local exchange carriers were concerned about tax increases and were taking the position that tax increases should be given a Z-factor treatment.  Is that right?

DR. LOUBE:  That is correct.

MR. PENNY:  And the Commission went on to say:
"As explained in the second further notice, the GNP-PI is a very broad-based price index that measures changes in all costs, including tax costs, that affect prices in the economy.  To grant LECs exogenous treatment of tax changes that are already accounted for in the GNP-PI would be to double-count their effect, a result that is inconsistent with the goals of price cap regulation to encourage cost-based rates.  Indeed, we have tried to avoid the possibility of such double-counting in our treatment of tax law changes for AT&T by presuming such tax changes to be endogenous.  Nevertheless, if there are tax changes imposed in any level of government that uniquely or disproportionately affect LECs as a class or individually, LECs may request exogenous treatment.  We note that a number of parties appear to advocate this treatment.  As with AT&T, the LECs that request endogenous treatment for such changes must overcome the presumption that tax law changes are endogenous.  The LECs argue that tax law changes should be given expedited treatment as exogenous because they are reflected only gradually in the GNP-PI, when they should be recognized at the time they change."

As I understand it, is that, according to your understanding, a reference to let the lag effect that we have been talking about?

DR. LOUBE:  The last piece of it?

MR. PENNY:  Yes.
"The LECs argue that tax law changes should be given expedited treatment as exogenous because they are reflected only gradually in the GNP-PI, when they should be recognized at the time they change."

DR. LOUBE:  That has to do with the lag, yes, that part of it.

MR. PENNY:  All right.  Thank you.  Then the FCC goes on to say:
"The timing and effect to which tax law changes are reflected in the GNP-PI are empirical questions that are unknowable.  As stated in the second further notice, the flowthrough of corporate taxes to prices and thus to price indices -–"
Or "indexes", I guess it says:
"-- has long been a complex and controversial topic in the literature of public finance that cannot and need not be resolved as part of this price cap proceeding."

Correct?  

DR. LOUBE:  That's what they said, and that's the same as I said earlier that as a general proposition, we start from that.  We start from this as a general proposition.  Then we see if there is any exemption to that general proposition.

I think I proceeded to say why I thought, in this case, there is exemptions to the general proposition.

MR. PENNY:  Yes.  Well, and we will come back to those.  And actually, while we're on that, let me ask you:  You cite, at page 9 of your report, in footnote 15, the 2004 economic report of the president in support of your argument about lags.  I think you mentioned that in your examination-in-chief.

DR. LOUBE:  Correct.

MR. PENNY:  And I have reproduced -- we'll probably come back to this later, as well -- but I reproduced a portion of that report.  It is the last document in my bundle, starting at page 25.

DR. LOUBE:  Mm-hmm.

MR. PENNY:  That, it says it is the economic report of the president, but I think you have already indicated George Bush didn't write this report.

[Laughter]

MR. PENNY:  It was written by some people that were hired by Congress to do it; right?

DR. LOUBE:  No.  Hired by George Bush.

MR. PENNY:  Hired by George Bush, okay, but it was reported to the Congress?

DR. LOUBE:  A report of the President to the Congress.

MR. PENNY:  You personally had no involvement in the preparation or creation of this report?

DR. LOUBE:  No.

MR. PENNY:  And the passage you rely on is cited at page -- you cite pages 111 to 112, and that is in chapter 4.  Now, I am presuming that different people had different responsibilities.

Do you know who wrote chapter 4?

DR. LOUBE:  No, I don't.

MR. PENNY:  And before being retained by Consumers Council of Canada to look at the tax changes earlier this year, had you ever read chapter 4 of the 2004 President's report?

DR. LOUBE:  No.

MR. PENNY:  In answer to Interrogatory No. 7, so this is the next one, you were asked whether you had researched or conducted any studies on the economic incidence of tax changes on utilities in relation to Canadian corporations generally, or the corporations of any other country, and you say that you reviewed filings of the Indiana utilities before the Indiana Utilities Commission with regard to a generic proceeding that related to a reduction in the United States corporate income tax.

Were those utilities subject to price cap regulation at the time?

DR. LOUBE:  At the time, they were subject to, for the most part, rate-of-return regulation.

MR. PENNY:  Thank you.  And that was obviously -- perhaps not obvious, but let's state the obvious.  That was US corporate income tax?

DR. LOUBE:  Correct.

MR. PENNY:  And as I understand it, you -- sorry, I lost my reference.  I guess we can look it up in your CV, but you -- at page 7 I think it is.  That was -- you worked at the Indiana Utility Regulatory Commission from 1986 to 1988; right?

DR. LOUBE:  To 1989.  There was two different positions.  The bottom of page 7, I was a principal utility analyst, and then one up from that, econometrician with the same commission.

MR. PENNY:  It was the same commission, you're absolutely right.  So you worked from there from '86 to '89?

DR. LOUBE:  From January '86 to May of '89.

MR. PENNY:  This review that you conducted was, in any event --

DR. LOUBE:  During that time period.

MR. PENNY:  -- it must have been earlier than 1989.

DR. LOUBE:  Before May 1989, yes.

MR. PENNY:  All right.  You didn't personally conduct or supervise any primary research on the economic incidence of these corporate tax reductions?  You were reviewing their filings?

DR. LOUBE:  Their filings and, yes, checking them.

MR. PENNY:  You didn't file evidence in that case?

DR. LOUBE:  No staff evidence was filed, and I was a member of the staff and, therefore, I did not file.

MR. PENNY:  Thank you.

Now, number 8, Interrogatory No. 8, this, I apologize, contained a typographical error, which I am sure you found confusing, and when I read it I found it confusing, too.

The question asked you what research or studies you conducted on the capital interest of utilities, which doesn't make a lot of sense in this context.  What, of course, we were trying to ask in the typographical error, for which I apologize, was the capital intensity of utilities.

So let me ask you that question now.  Before January 1, 2008, had you -- have you ever conducted any research or studies on the capital intensity of utilities in Canada in relation to Canadian corporations, generally?

DR. LOUBE:  Canadian corporations, no.

MR. PENNY:  All right.  Have you personally conducted or been in charge of research or conducted studies of the capital intensity of US utilities in relation to US corporations, generally?

DR. LOUBE:  When you do cost of equity analysis, you look at the capital intensity of the companies that you're doing.

MR. PENNY:  So in the context of cost of capital analysis, which you have told us you did, you have looked at that issue?

DR. LOUBE:  Yes.

MR. PENNY:  All right.  Thank you.

And then if you would flip to -- I don't know if you have handy -- the London Property Management Association also asked you a few interrogatories, and I wanted to ask you about their Interrogatory No. 2.

Do you have that handy?

DR. LOUBE:  Yes, hmm-hmm.

MR. PENNY:  In your answer to that question, you cite some data on capital intensity, which appears to have been taken from StatsCan.

DR. LOUBE:  That's correct.

MR. PENNY:  I guess my question was:  When was the first time you ever looked at this data?  Was it at the time you were asked this question?

DR. LOUBE:  Yes.

MR. PENNY:  Thank you.  I take it you found it by searching around the StatsCan website?

DR. LOUBE:  Yes, and I paid them $66 for it.

MR. PENNY:  Well, I'm sure you put that on your list of costs to recover; at least I hope you did.  You are entitled to.

MR. WARREN:  Can we make a note of that officially for the record, Mr. Penny?  You're in a generous mood.

MR. PENNY:  Now, in your report you -- I think it's at page 5, yes.  You cite a paper by John Whalley.

DR. LOUBE:  Hmm-hmm.

MR. PENNY:  Do you know John Whalley?

DR. LOUBE:  No.

MR. PENNY:  Do you know who he is, other than he wrote a paper you saw?

DR. LOUBE:  He is a professor and, you know --

MR. PENNY:  You don't know anything about his qualifications or experience?

DR. LOUBE:  No.  I have never cross-examined him.

MR. PENNY:  And you didn't, I take it, assist Mr. Whalley in any research he did for this paper?

DR. LOUBE:  No.

MR. PENNY:  And as I understand it, it's a working paper prepared for the Technical Committee on Business Taxation?

DR. LOUBE:  Correct.

MR. PENNY:  Do you know what the technical committee was or what its mandate was?

DR. LOUBE:  No.

MR. PENNY:  You, I take it, provided yourself no working papers to the Technical Committee on Business Taxation?

DR. LOUBE:  No, no.

MR. PENNY:  Are you aware that Professor Mintz was the chair of that committee?

DR. LOUBE:  No.

MR. PENNY:  In the bundle --

DR. LOUBE:  I know he cited this paper.

MR. PENNY:  In the bundle that I provided to you, at page 21, this is, by the way, an excerpt from Mr. Whalley's paper -- or Dr. Whalley's paper.

You will see that it gives a list that the technical committee was composed of a panel of legal, accounting and economic expertise in the tax field, and you see it says Professor Jack Mintz, chair?

DR. LOUBE:  Yes, that's correct.

MR. PENNY:  Then were you aware, if you would flip the page, there's a list of all of the -- I didn't actually put in the whole list, but there is a list which contains some of the working papers that were submitted, and were you aware that Tom Wilson filed three working papers with the technical committee?

DR. LOUBE:  If it says so on this list, that would 
be --

MR. PENNY:  97-1, 97-5, and 97-10.

DR. LOUBE:  Okay.

MR. PENNY:  And have you read the final report of the Technical Committee on Business Taxes?

DR. LOUBE:  No, I did not.  I went to this paper because Dr. Mintz footnoted it in another paper, so I believed that Dr. Mintz thought it was an important paper.

MR. PENNY:  All right.  I guess my question to you on that is that I take it that, again, you saw Professor Whalley's article for the first time after you were asked by the Consumers Council to examine the tax change issue?

DR. LOUBE:  That's correct.

MR. PENNY:  All right.  Then at page 7 of your report, footnote 9, you cite a working paper by William Randolph?

DR. LOUBE:  That is correct.

MR. PENNY:  Again, you had no involvement in the research for or preparation of the Randolph paper?

DR. LOUBE:  No, I did not.

MR. PENNY:  And that was prepared for the Congressional Budget Office, and you yourself have prepared no working papers for the Congressional Budget Office?

DR. LOUBE:  No, no, I'm not an employee of the Congressional Budget Office.

MR. PENNY:  Again, had you ever read this paper by Bill Randolph before January 1, 2008?

DR. LOUBE:  No.

MR. PENNY:  Then if we go, turning back to your report, to page 2.  I wanted to come back to these citations, to the regulatory citations.

You say, "examples of such cost elements include", and that's in reference to Z-factors, "tax change" -- "include tax changes, changes in regulations, changes in legislative mandates and natural disasters.

And in the bundle of material, in addition to the FCC case, I have provided a number of other excerpts from those regulatory decisions that you cite.

And the first one is the decision at page 1, the decision on the Southern California Gas Company.  Do you see that?

DR. LOUBE:  Yes.

MR. PENNY:  Do you have that?  All right.

DR. LOUBE:  Pages 29 to 31?

MR. PENNY:  I have excerpted the section on Z-factors.  Not surprisingly.

And I just ask you to confirm that they list there nine criteria for Z-factors, and I want to focus, in particular, on items 5 and 6.

So the item 5 says:
"The costs must have a disproportionate impact on the utility."
And 6 says:
"The costs and event are not reflected in the rate update mechanism."

First of all, is that correct?

DR. LOUBE:  That is correct.

MR. PENNY:  And do you accept that those are appropriate threshold criteria for Z-factor treatment?

DR. LOUBE:  Yes.

MR. PENNY:  Then the next pages are the FCC decision that we have already looked at.

If you then flip to page 5, one of your citations was the Staff Discussion Paper on Incentive Regulation by the Board Staff in the preliminaries to this very case.

That says that:
"A Z-factor provides for non-routine rate adjustments intended to safeguard customers and the gas utility against unexpected events -–" et cetera.  
"Examples include changes in tax rules and natural disasters."
Then there is a footnote to that that says:
"It should be noted that changes to federal tax laws would already be incorporated into the inflation factor GDP IPI FDD."
Correct?

DR. LOUBE:  That's correct.

MR. PENNY:  Then you cite an investigation of the Department of Telecommunications and Energy into the rates charged by Bay State Gas.  That starts at page 6.

I have side-barred a passage dealing, again, with exogenous costs and Z-factors, under the heading "analysis and findings".

And the Department of Telecommunications and Energy says:
"Exogenous costs are defined as follows: exogenous costs shall be defined as positive or negative cost changes actually beyond the company's control and not reflected in the GDP-PI, including but not limited to cost changes resulting from..." 
-- number 1, or the full bullet -– 
"...changes in tax laws that uniquely affect the local gas distribution industry."

First of all, have I correctly captured that?

DR. LOUBE:  You have correctly stated what this -– yes, you read it accurately.

MR. PENNY:  Do you accept that as an appropriate criteria for Z-factor treatment?

DR. LOUBE:  Yes, I think that that's what I said in my initial statement.  I can give you an example of the tax that everybody would agree would be special, that's the excise tax that the United States government passed on long distance telephone.  We passed it around the turn of the 19th century.  It was a Spanish-American War tax, in order to -– it's the one time when the Republicans raised the taxes to pay for war, and it was a special tax on long distance service.  So, yes, that would be an immediate tax.

Then there is the corporate income tax.  And I have already admitted that in many instances that is a general tax, but there are special circumstances that I have listed before, and those are the same special circumstances that I will list again as we go back over and over the same question.

MR. PENNY:  You also, in your CV, listed a couple of papers and I think you referred to at least one of them already today, but the first I have excerpted, starting at page 7 of this bundle, is entitled "A Review of Incentive Regulation" and that, as I understand it, was a paper that you gave at a CAMPUT Conference in Banff in 1993.  Right?

DR. LOUBE:  Yes.

MR. PENNY:  And on the second page of that paper, under the heading "Price caps", you say:
"Under price cap regulation, individual service prices are no longer tied to cost-of-service studies.  Instead, prices are allowed to rise with inflation and decline due to productivity offsets.  Specific allowances are also made for extraordinary items that can affect utilities in a manner different from the rest of the economy."

That's what you wrote.

DR. LOUBE:  Correct.

MR. PENNY:  Yes.  And then in the context -- this is actually coming back to, perhaps, something you just mentioned -- the next two pages, 9 and 10, are an excerpt from the paper I think you mentioned earlier, called "Price Cap Regulation Problems and Solutions" published in Land Economics.

You say on page 10, page 287 of the article, on the left-hand column in the side-barred passage that:
"Rates can also change because of changes in exogenous factors.  However, the exogenous factors should have the singular impact on the telephone industry.  For example, a change in the federal excise tax on telephone service is considered to be an exogenous factor, while a change in the corporate income tax rate would not be considered an exogenous factor, because it has a similar effect on all industries."
Correct?

DR. LOUBE:  That's exactly what I was talking about, the excise tax that I just mentioned and --

MR. PENNY:  With respect --

DR. LOUBE:  -- the second part of it being exactly, and I stated over and over again that you have to show special reasons for not holding that second part of the sentence.

MR. PENNY:  With respect, sir, you say --

DR. LOUBE:  I say exactly --

MR. PENNY:  "While a change in the corporate income 
tax rate would not be considered an exogenous factor -–" 
You say nothing there about lags.  Am I correct?

DR. LOUBE:  You are correct.

MR. PENNY:  Thank you.  And is it correct, sir, that the telephone industry is a capital-intensive industry?

DR. LOUBE:  It is a capital-intensive industry.

MR. PENNY:  Would you agree that it is an industry that is more capital-intensive than the average US corporation?

DR. LOUBE:  That's correct.

MR. PENNY:  And indeed, I think you say that at page 11 of this paper.  On the right-hand margin, at the top in the first paragraph, it says:  "However these are -–"  


You're referring to some -- I guess maybe we should back up:
"Comparing GDP-PI to the producer price index for switching and telephone and telegraph apparatus indices further confirms the post-administered pattern.  Producer price indices reflect the changes only in capital equipment prices.  However, these are important indicators in a capital-intensive industry."


Correct?

DR. LOUBE:  That is correct.  And as --

MR. PENNY:  Now, your clients, Consumers Association of Canada and the Vulnerable Energy Coalition, filed in our PBR case some years ago, the evidence of Johannes Bauer.  Do you know Johannes Bauer?

DR. LOUBE:  Yes.

MR. PENNY:  Is he a respected regulatory economist?

DR. LOUBE:  Yes.

MR. PENNY:  And I won't take you through all of these references, but if you would take page 14, because they're all to the same effect.

 He says in the middle of the page in the side-barred passage:

"If the entire industry is affected by one-time changes, for example a tax reduction/tax increase, the market outcome will reflect this event in lower/higher prices."
Then if you would flip the page to 15, there's a side-barred passage wherein which he said, he testified before this Board:

"As changes that affect the entire economy are generally reflected in the inflation factor, one of the drivers of the price cap index, only factors affecting the natural gas distribution industry ought to be considered."

I take it, from what we have covered earlier, that you would agree with those as being appropriate regulatory principles?

DR. LOUBE:  Yes.

MR. PENNY:  Thank you.  Then in your report, sir, at page 3, where you are reviewing the evidence of Jack Mintz and Tom Wilson, you start the discussion there.  Well, obviously not restricted to this part, but about the effective tax rate change on utilities, and their position that it is less than the effective tax rate change for other industries.

I just wanted to ask you a couple of questions, I suppose, of principle.

On this question of marginal effective tax rates, do you agree that reductions in the marginal effective corporate tax rate provides a stimulus to capital investment?

DR. LOUBE:  Yes.

MR. PENNY:  And do you agree that as new investment in capital is realized -- in other words, as business buy newer machines, more computers, whatever, that labour productivity increases?

DR. LOUBE:  Yes.

MR. PENNY:  And do you agree that as labour productivity increases, unit costs decline?

DR. LOUBE:  Yes.

MR. PENNY:  And as unit costs decline, do you agree that prices also tend to decline?

DR. LOUBE:  It depends on how it impacts the world economy.

MR. PENNY:  So it depends?

DR. LOUBE:  Yes.

MR. PENNY:  Then at page 5 of your report, sorry, in footnote 5, you refer to a study by Arnold Harberger, "The Incidence of the Corporate Income Tax"; correct?

DR. LOUBE:  Yes, correct.

MR. PENNY:  And that, the article that Harberger wrote, "The Incidence of the Corporate Income Tax", that was written in 1962?

DR. LOUBE:  That is correct.

MR. PENNY:  And as I understand, it was based on a model of US corporate tax at the time?

DR. LOUBE:  Correct.

MR. PENNY:  And the Harberger model is based on a two-sector model of the economy, the corporate sector and the non-corporate sector?

DR. LOUBE:  Yes.

MR. PENNY:  And are you aware or are you able to comment on the extent to which, in 1962, there was little or no harmonization between the corporate and personal income tax regimes?

DR. LOUBE:  I am not quite sure what you're asking.

MR. PENNY:  Well, for example, as I understand it, in 1962 there was no device like what in Canada we would call a dividend tax credit, which would avoid the taxation of corporate profits once as earned under corporate tax regime, and then taxed again as personal income when paid out to the owners as dividends.

In Canada, we have something called a dividend tax credit which prevents that double taxation.  It is my understanding that that is only quite a recent phenomenon in the United States, but that in 1962 you did not have that harmonization that prevented that.

DR. LOUBE:  There is still a tax on dividends, but it is much lower than it was in the past in the United States.

MR. PENNY:  But in 1962, as I understand it, there was no harmonization effectively at all?

DR. LOUBE:  They were separate taxes.

MR. PENNY:  Right.

DR. LOUBE:  Okay.

MR. PENNY:  And there was no attempt to offset one against the other, is I guess the point I am trying to make.


DR. LOUBE:  That's correct.  In the last tax cut in, I guess, 2001 under President Bush, there was a reduction in the dividends tax, and the rationale for the reduction 
was --

MR. PENNY:  To try and move in the direction I'm talking about?

DR. LOUBE:  Right.  But they never said or used the word "harmonization" or anything like that.

MR. PENNY:  Fair enough.  My point is simply that in 1962, under that regime, there was an incentive, particularly for smaller businesses, not to be incorporated, because if you did, you would become subject to this potentially double taxation.  Is that fair?

DR. LOUBE:  There's all kinds of reasons not to incorporate or to incorporate.

MR. PENNY:  Well, is that one of them in 1962?

DR. LOUBE:  That could be one of them, yes.

MR. PENNY:  All right.  And do you know what the relative size of the corporate and non-corporate sectors were in the US in 1962?

DR. LOUBE:  No.

MR. PENNY:  And do you know what the relative size of the incorporated and unincorporated sectors are in Canada today?

DR. LOUBE:  I believe Dr. Mintz said the corporate sector was responsible for approximately 70 percent of the economy.

MR. PENNY:  Yes.  And I think he said that the 30 percent involved government services, unincorporated sector and non-res -- or residential housing.  But if we leave out government services and residential housing, do you know how much of the --

DR. LOUBE:  No.

MR. PENNY:  -- of that 30 percent is --

DR. LOUBE:  I do not know.

MR. PENNY:  All right.  And I think you say this, but the Harberger model assumed a closed economy, did it not, in which the supply of capital is fixed?

DR. LOUBE:  Correct.

MR. PENNY:  And you are aware that Canadian businesses have access to capital internationally?

DR. LOUBE:  Yes, and so do US companies, too.

MR. PENNY:  And you agree, then, that capital -- that Canada's capital stock is not restricted to total domestic savings?

DR. LOUBE:  That's correct.

MR. PENNY:  Then you cite on the same page, sir, the paper by Gregory Ballantine -- sorry, it is a book, actually.

DR. LOUBE:  Hm-hmm.

MR. PENNY:  And, again, prior to this assignment in January of 2008 for your clients in this case, had you ever read Greg Ballantine's book?

DR. LOUBE:  I found it on an old list.  I don't remember when or whether I did, but I am sure that the list that I found it on I had used in the past and it probably was when I was investigating back in 1990, but I couldn't promise you that I read it then.

MR. PENNY:  All right.  I just excerpted the flyleaf, because I didn't want to put you through, or me through or anyone else through, a textual analysis of Greg Ballantine's book, but I did put in a passage from the fly leaf just to try and get at the essence of it.

If you look at page 17 of my bundle, you will see that it, after describing -- well, let me read it.  It is says: 
"Gregory Ballantine examines the little understood effects of the corporate income tax, a mainstay of the US federal revenue system.  Although the tax legally falls on the incomes of those who own corporate stock, the actual burden is shared by everyone in the economy."

Is that a fair --

DR. LOUBE:  That's what he wrote.

MR. PENNY:  That's what he wrote.  Okay, fair enough.  Thank you.

Then I wanted to go back to the Whalley paper.  In footnote 4, you refer to the Whalley paper, and I have provided an excerpt of that paper and -- starting on the next page.

If you would look at page -- let's start at page 20, which is page 9 of the Whalley paper.  This is the technical -- the working paper to the Technical Committee on Business Taxation.

If you look in the middle paragraph, the side-barred portion, he's talking about the Harberger study, and he says:

"The Harberger conclusion only came under attack in the late 1970s, and then, because of the changing focus of public finance research towards the effects of taxation on savings and especially so in open economies, in a now somewhat neglected 1979 paper, Feldstein offered the analytic that implied in the Harberger model, the key to finding that capital bears the tax burden is the assumption that in aggregate, capital is in fixed supply.  Put differently, the industry features of the Harberger model have relatively little effect on the final result that capital bears the corporate tax burden.  If, instead, say an international economy is assumed in which the economy's capital market is fully integrated with world markets, then capital is in perfectly elastic supply internationally.  It is impossible for capital to bear the burden of the tax.  Hence, the implicit assumption on aggregate capital supply elasticity for the economy under investigation is central to the incidence conclusion as to whether or not the corporate tax has shifted backward onto capital or covered onto consumers, whatever the type of analysis used, econometric or counter-factual model based.  In the case of a small open economy, participating in an integrated international capital market in which capital is mobile, the conclusion seems inescapable that capital cannot bear the burden of the tax."


Do you see that, sir?

DR. LOUBE:  Yes.

MR. PENNY:  Did I read it correctly?

DR. LOUBE:  You read it correctly.  If I --

MR. PENNY:  Excuse me, sir, I haven't asked you a question yet.  Have you read the Feldstein paper?

DR. LOUBE:  Yes.

MR. PENNY:  You have read the Feldstein paper?

DR. LOUBE:  Hmm-hmm.

MR. PENNY:  You did not cite that in your report?

DR. LOUBE:  That's correct.

MR. PENNY:  All right.  And -- and then you -- just keep that with you, because I am going to come back to it, but at page 6 of your report, in the first full paragraph, you say, in the middle of that paragraph:
"However, if the markets contain only a small number of firms and these firms have cost characteristics that are different from the normal competitive firm cost relationships, it is possible to show that some of the tax burden can be shifted forward to consumers."

And if you look at the prior page of the Whalley report, at the bottom, starting at the bottom paragraph, there's a discussion of a piece by Sayadi written in 1985.  Do you see where I am talking about?

DR. LOUBE:  Yes, hmm-hmm.

MR. PENNY:  Have you read the Sayadi paper?

DR. LOUBE:  That doesn't ring a bell.

MR. PENNY:  In any event, he -- just to jump to the point here, if you go to the beginning of the last sentence on that page that goes over to the next page, it says:
"Sayadi showed that a tax could increase after-tax profit in an oligopolistic industry."

Excuse me.

DR. LOUBE:  Yes.

MR. PENNY:  If I understand that correctly, if a tax increases after-tax profit, that means that more than the full amount of the tax is shifted forward; isn't that correct?

DR. LOUBE:  That's correct.  That's one possibility.  Among all different types of market structures, there could be various results.

However, your selective quoting from this paper leads me to want to add another sentence from the paper, which is from page 4 of the paper:
"In the case where international markets set prices for goods, the small economy case, forward shifting of taxes to consumers cannot occur."

So we have the fact that, yes, there is a problem from the point of view that in the international marketplace, capital does move and it will come into Canada.  But for Canadian tradable companies, companies that produce tradable services, they cannot increase, shift the tax to consumers.  That's what it concludes.

MR. PENNY:  Well, we're thinking along the same lines, because I was going to move to that very topic in my next question, you will be pleased to know.

I guess you're essentially saying in small open economies, the burden of the tax could be shifted forward but you say, domestic producers can't maintain prices higher than those generated in the open international market --

DR. LOUBE: In the international market, yes.


MR. PENNY:  That's your point.  Do you agree that inflation rates in Canada can be different from inflation rates in other countries?

DR. LOUBE:  Yes.

MR. PENNY:  And if price inflation increases in Canada relative to other countries, that would be offset by depreciation of the Canadian dollar?

DR. LOUBE:  To a certain extent, yes.

MR. PENNY:  If price inflation decreases in Canada, that would be to some extent offset by an appreciation of the Canadian dollar?

DR. LOUBE:  Yes.

MR. PENNY:  And similarly, if Canada exports less because of price inflation, that also has the effect of depreciating the Canadian dollar relative to other countries.

DR. LOUBE:  It could.  There's –-


MR. PENNY:  Well, all else equal, of course.  I mean I am just trying to establish some principles here.

If the Canadian exchange rate falls, that has the effect of increasing import prices?  To Canadians?

DR. LOUBE:  Yes.

MR. PENNY:  Yes?

DR. LOUBE:  Yes.

MR. PENNY:  All right.  Then just sticking with page 6 of your report, I wanted to ask you finally on that page, with respect to the last sentence, you say:

"Increases in the corporate income tax would be associated with decreases in Canadian wages, and decreases in the corporate income tax would be associated with increases in Canadian wages."

I simply wanted to ask you if you would agree that if lower aggregate corporate taxes result, if they result in lower aggregate prices, this generates an increase in real wages, even though money wages do not change.

DR. LOUBE:  Yes.

MR. PENNY:  All right.  Thank you.

Then on page 7, sir, you -- I said I would come back to the Randolph paper.  You cite the Randolph paper towards the -- well, beginning on page 7 of your report.

And you say towards the bottom of that discussion, that:

"In particular, if the non-tradable corporate sector is more capital-intensive than the tradable sectors, then the price increases faster with tax increases and at the decreases faster  with tax decrease than in the tradable sectors."
Right?  Then, this is the sentence I am interested in:

"This finding implies that the inflation factor in the price cap formula would not compensate -–" et cetera.

DR. LOUBE:  Correct.

MR. PENNY:  You say "implies".

I take it that you have not performed any study of the degree to which the capital intensity of Ontario utilities affects their tax costs, as opposed to the tax costs of other large Canadian corporations?

DR. LOUBE:  No, I have not done that.

MR. PENNY:  Are you aware that increased depreciation allowance for the manufacturing sector in Canada, recently has provided the manufacturing sector with larger corporate tax rate cuts than are available to utilities?

DR. LOUBE:  Yes, and those are mainly -- a lot of those are also companies that produce tradable services.

MR. PENNY:  And are you aware that there have been other tax cuts, like payroll taxes, that disproportionately affect other industries, as opposed to Ontario utilities?

DR. LOUBE:  I am not aware of those, but I saw that Dr. Mintz included some labour tax changes.

MR. PENNY:  You indicated earlier that the US economy was a large economy.

Do you know actually what the US economy represents as a percentage of world output?

DR. LOUBE:  No.

MR. PENNY:  In order of magnitude, even?

DR. LOUBE:  A lot.

MR. PENNY:  25 percent?  More?  Less?  I don't know.

DR. LOUBE:  Well, I haven't summed it up.

MR. PENNY:  You also called the Canadian economy a small economy.  Do you know what the Canadian economy represents as a percentage of world output?

DR. LOUBE:  I would provide those to you if you want me to.

MR. PENNY:  Do you have that?

DR. LOUBE:  I don't have it.  But I could get it for you.

MR. PENNY:  I suppose we can all look stuff up, but I am told that Canada is about three percent of world output.  Does that seem right?

DR. LOUBE:  Subject to check.

MR. PENNY:  Okay.  I reproduced something from the Randolph paper in my bundle here, starting at page 23.  That's the cover page of the "International Burdens of the Corporate Income Tax" by William C. Randolph, August 2006.

I reproduced table 8.  Do you have that?

DR. LOUBE:  Mm-hmm.

MR. PENNY:  It's called "The Corporate Tax Burden Shares and Relative Economy Size" and do you see that under "Share of World Output", if we take domestic 1 percent, that the burden of corporate taxes shared by capital is only 2.6 percent.  Is that correct?  That's what it shows.

DR. LOUBE:  Yes, this is a long-run analysis.  He says in the first page of his analysis that, in the first year all of the tax will go on corporations.  That's what he says in the first page.

MR. PENNY:  But I'm asking you about table 8.

DR. LOUBE:  I'm telling you that in table 8 is after all long-term analysis.

MR. PENNY:  Yes.

DR. LOUBE:  After all lags are finished.

MR. PENNY:  A domestic economy that's 1 percent of the world output, only 2.6 percent of the burden falls on capital.  Right?  That's what it shows.

DR. LOUBE:  Right, mm-hmm.

MR. PENNY:  If domestic is 5 percent, 6.8 percent of the tax burden falls on capital, right?

DR. LOUBE:  That's correct.

MR. PENNY:  And in fact, what this shows is that the smaller a portion of world economy your domestic output is, the less the tax burden --

DR. LOUBE:  That's what this analysis shows, yes.

MR. PENNY:  All right, thank you.

Then I also said I wanted to come back to the economic report of the president.

In your discussion of lags at page 9, of your report, you make reference to this analysis of lags in the 2004 economic report of the President.  And you quote that report.  And it's a quote from pages 111 and 112.  I side-barred a passage here because I wanted to bring out one aspect of this.

It says at page 111, on page 26 of this bundle that:

"A textbook model of economic growth called the Ramsay model provides an illustration of this effect."

So as I understand it, that's what they were relying on, they were relying on this model.

DR. LOUBE:  That's correct.

MR. PENNY:  And they say that is in an appendix to chapter 5.  Did you look, at the time, at the appendix to chapter 5?

DR. LOUBE:  No.

MR. PENNY:  All right.  Well, I reproduced that here, at page 28.  And you will see there is the heading that says "Appendix: the Model used in the Capital Tax Example."

DR. LOUBE:  Yes.

MR. PENNY:  And that says that:

"The model underlying the capital tax example is the growth model developed by Frank Ramsay in 1928."
Right?

DR. LOUBE:  Correct.

MR. PENNY:  And then if you look at the last sentence on that page, it says:

"Over the long term, the savings rate -–"

This is in the model.
"Over the long term, the savings rate determines the capital stock and thus the level of output in the economy."

Is that what it says?

DR. LOUBE:  That's what it says.

MR. PENNY:  That, as I understand it, means -- as we discussed earlier with Harberger -- that the domestic savings defines the capital stock for the purposes of the model, is that right?  So it's a closed economy, in other words.  It says:

"Over the long term, the savings rate determines the capital stock."

DR. LOUBE:  I'm not sure whether or not he examined a closed or open economy.  I would accept, though, it is probably a closed economy.

MR. PENNY:  That's certainly what this suggests; does it not?

DR. LOUBE:  It says the savings rate.  It could be the savings rate of everyone who provides savings in a world economy.

MR. PENNY:  All right, but you and I both know that that's highly unlikely that that is what he means.

DR. LOUBE:  Mr. Ramsay is a brilliant man.

MR. PENNY:  In 1928.

DR. LOUBE:  In 1928, there was a lot of arguments about tariffs around the world and what they did.  So he might have been aware of that.

MR. PENNY:  "Might have"?

DR. LOUBE:  Yes.

MR. PENNY:  All right.  Thank you.  


Those are all my my questions, Mr. Chairman.

MR. KAISER:  Thank you.
Questions from the Board:


MS. CHAPLIN:  Dr. Loube, can I just get you to go back to -- this is to go back to your discussion in your direct testimony, your commentary on the table 2 that appears at page 6 of Dr. Mintz's and Wilson's reply testimony?

DR. LOUBE:  Table 6 of the rebuttal?

MS. CHAPLIN:  I'm sorry, table 2 on page 6 of their --

DR. LOUBE:  Rebuttal testimony?

MS. CHAPLIN:  Yes, yes.

DR. LOUBE:  Yes.

MS. CHAPLIN:  Okay.  Now, I want to make sure I understood the comments you made to start with.

I think what you were saying is you were prepared to accept the analysis of -- I am looking at the top of the table, the all large corporations, the lines regarding the taxes, so those first three rows.

DR. LOUBE:  Yes.

MS. CHAPLIN:  Then the first area where you, I believe, raised a question is the transformation of taxes on the cost of business of the minus 2.1 percent and minus 1.0 percent to the impact on the GDP IPI FDD.  Would that be correct?

DR. LOUBE:  That would be correct, yes.

MS. CHAPLIN:  And your conclusion is that they were implying a one-to-one relationship after this scaling factor, and you're saying -- are you arguing that it would be less than that?

DR. LOUBE:  Yes.

MS. CHAPLIN:  Okay.  And is that because of the two factors that you have identified, the lag issue and the small economy --

DR. LOUBE:  Small economy, yes.

MS. CHAPLIN:  -- issue?

DR. LOUBE:  Yes.

MS. CHAPLIN:  Okay.  Now, is there any sort of effect or impact regarding the fact that the GDP deflator factor is the one that was chosen; in other words, this one that excludes some of those export-related factors?  Off the top of my head, I don't have the precise definition, but Dr. Mintz --

DR. LOUBE:  Well, it would exclude, I believe, the exports and, thus, it is more stable for that reason.  You don't have the impact of the volatility associated with, say, your lumber export prices and your oil export prices and your wheat export prices.

MS. CHAPLIN:  Okay.  So I guess my question to you is:  Does that selection of the deflator in any way offset the issue that you have raised?

DR. LOUBE:  No.

MS. CHAPLIN:  Okay.  Why is that?

DR. LOUBE:  Because the corporations that are here are corporations that, for example, build automobiles.  The tradable -- a lot of tradable commodities are in this group of large corporations.

MS. CHAPLIN:  Okay.  So you're saying it would be -- whereas the figures that Drs. Wilson and Mintz have of minus 1.5 percent and minus 0.7 percent, you're saying that they would be --

DR. LOUBE:  Lower.

MS. CHAPLIN:  -- substantially lower than that.

Okay, thank you.  That's all I have.

MR. KAISER:  Did you have anything, Mr. Millar?

MR. MILLAR:  No.

MR. KAISER:  Any re-examination?

MR. WARREN:  No, thank you.

MR. KAISER:  Thank you.  Thank you, Dr. Loube.

DR. LOUBE:  Thank you.
Procedural matters:


MR. KAISER:  What's next, Mr. Millar?

MR. MILLAR:  Unless there are any scheduling matters or anything of that nature, we are adjourned I believe until Monday.

MR. SHEPHERD:  We were going to talk about argument.

MR. MILLAR:  So there are some non-evidentiary matters, apparently.  Mr. Shepherd has raised scheduling.

Yes, and there was some discussion before the break regarding the undertaking response from Union and how that would play in with possible responses from the other experts, and whatnot.  We're only at 3:15, so we may have a bit of time to discuss these matters.

MR. KAISER:  Mr. Penny, where are we on the undertaking?

MR. PENNY:  We're not in a position to respond as yet.  There needs to be some discussion with some people back at the office, so to speak.

MR. KAISER:  All right.

MR. PENNY:  So what I will do -- what we'll do is I am sure we will have a better idea, either later today or tomorrow, and we will send something out by e-mail or by correspondence.

MR. KAISER:  All right, that would be fine.  Mr. Shepherd, you want to say something on argument?

MR. SHEPHERD:  I guess I just wanted to raise the question, Mr. Chairman, whether the Board has any thoughts on how it would like to proceed with argument.  We would obviously prefer written argument because of the complexity of the issues.

I understand that the timing of it is dependent, to a large extent, on when the record will be complete, but I am asking the question:  Are you ready to give us any guidance yet, or are we going to wait?

MR. KAISER:  Why don't we canvass the other counsel first, Mr. Penny.  What is your preference, written or oral?

MR. PENNY:  Well, our preference is oral, because it will mean that we get it done faster.

MR. KAISER:  Mr. Warren, do you have anything, any views?

MR. WARREN:  Oral, sir.

MR. KAISER:  Oral?  Mr. Thompson?

MR. THOMPSON:  I think I would prefer oral, as well.

MR. KAISER:  Okay.  Mr. Buonaguro, do you want to vote?

MR. BUONAGURO:  Actually, we would prefer written.

MR. KAISER:  Two written, three oral.  Mr. Millar, do you want to vote?

MR. MILLAR:  I'm in the Board's hands.

MR. KAISER:  One neutral.

MR. SOMMERVILLE:  Can we do both?  Those who want 
to --

MR. KAISER:  One thing we do -- Mr. Sommerville is always willing to compromise on everything.  We could have an initial written argument, and then an oral reply.

MR. PENNY:  Or vice versa, I suppose.

MR. KAISER:  It's just the oral reply allows us to ask some questions, but...

MR. THOMPSON:  The question period we had in -- good idea.

MR. SOMMERVILLE:  What about oral for those who want oral argument and written for those who want to go written?  Is there any problem in mixing them?

MR. PENNY:  I think there are potential problems.

MR. SOMMERVILLE:  For you, in particular.

MR. BUONAGURO:  I think with that choice you might end up with all written, I would guess.

MR. KAISER:  Well, let us -- we don't have to decide that right today.  We will be back here Monday, I guess.  Is it Monday?

MR. MILLAR:  Yes.

MR. KAISER:  9:30?  Thank you.




--- Whereupon the hearing adjourned at 3:17 p.m. 
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